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Fig.2-1 Aflow of a study of uneven bar gymnast robot
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Table.3-1 Table3-2
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Table.3-1 Motions of deduction of points of uneven bar gymnastics
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Table.3-2 Motions of deduction of points of uneven bar gymnastics
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Fig.3-1 Astructure of uneven bar
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Fig.4-1
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Fig.4-1 Three-link model of the uneven bar gymnast robot
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4.3

Fig.4-1

D 5x2

Newton — Euler
Lagrange

Lagrange

Newton — Euler

Lagrange

X y 6 6, 6,

Mathematica
Mathematica

M(q)j +hig.4)+ g(g)= Dz

q=[x y 0 0, 6]
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m, =m, +m, +m,
m, =0

My, = (myl; +m,l, +m,l, Jeosd, +(m,l,, +m,l, )cos(d, +6,)+m,l, cos(6, +6, +6,)
m,, = (m, 1, +m,l, Jcos(é, +6,)+m,l , cos(é, +6, +6,)
Mys = Myl 5 cos(6; + 6, +6,)
m,, =My,
m, =m, +m, +m,
My = (Ml +m,l, +mgl, Jsin @, +(m, |, +m,l, )sin(6, +6,)+m,l ,sin(6, + 6, +6,)
m,, = (M,l,, +ml, )sin(6; +6,)+ml ;sin(é, + 6, +6,)

My, =Myl y,sin(6, + 6, +6;)
My, =My,
Ms, =My,

My =myl,” + (M, +m L% +myl " +myl,* +myl ) * + (2m2I1Igz +2m,l,1, )cos,
+2mgl,l 5 cos(8, + 6;)+ 2m;l,l s cosd; + 1, +1, + 1,

May = Ml .7 +myl,? +myl )+ (m, L], +myl, Jcos 6, +myl,l , cos(6, +6,)
+2myl, 1, c0860, +1, + 1,

2
My = Myl y,° +myll ; cos(8, + ;) + myl,l ; cosd; +1,

my, =my,
my, =My,
My =My,

2 2 2
My, =Myl " +mgl,” +mgl .= +2myl,l s cosd, +1, + 1

2
My =Myl y3" +myl,l ,cosd; + 1,

Mg = My
Mg, = Mys
Mgz = Mgg
Mg, = Mys

2
mg, = m3I93 +1,
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h:[hl hz h3 h4 hs]T

= —{(myd,, +m, 1, +myl, )sin 6, + (M1, +myl, )sin(6, +6,)+m,l ,sin(6; +6, +6, )6,
—{(m,1, +my1, )sin(6, +6,)+m,l ,sin(6; + 6, +6,)}6,’

—{m,l 5 sin(6, + 6, +6,)}6,’

{(ZmzlgZ +2myl, Jsin(6, + 6, )+ 2m,1 ; sin(6; + 6, +6,)16,6,

—{om,1 ,sin(6, + 6, +6,)}6,6,

—{fom,l,sin(6, + 6, + 6,)16,6,

h, = {(mllgl +m,l, +ml, )cosd, + (mzl92 +m,l, )cos(6, +6,)+ m;l,; cos(, + 6, + 0, )6,
+{(m,l, +m,l, )cos(8, + 6, )+ m,l, cos(6, + 6, + 6,)}6,”
{1, cos(6, + 6, +6,)6,”
+{m,1,, +2m,1, )cos(6, +6,)+2m,1, cos(6, + 6, +6,)6,6,
+ {om,1 , cos(6, + 6, + 6,)}6.6,
+{om,l, cos(6, + 6, + 6,)16,6,

+

hy = —={(m, 11, +m,L1, )sin &, + m,l,1_,sin(6, +6,)}6,’
—{m, 1,1 5 sin 6, + m,l,] , sin(6, +6,)}6;’
—{em,L1,, +2m,L1, )sin 6, + 2m L1 ,sin(6, + 6, )}6,6,
—{om,1,1,sin @, +2m,1 ,sin(6, + 6,)}6,6,
~{ 2myl,l 5 sin @, + 2mgll ; sin(6, + 6, 6,6,
h, = {(m 11, +m,L1, )sin 8, + m L1, sin(6, +6,)6.”
—(m,l,1,5sin 6, )6,
—(2m,1,1 ;sin 6, )6,6,
—(2my1,1 ;sin 6, )6,6,
hy = {my1 1, 5in 6, + myL1 ;sin(6, +6,)}6,’

(mslzlgasm 193)62
+(2m,1,1 ,sin 6, )66,
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g=l0, 9, 9, 9, 0l

0, = 0

g, = {ml +m, + ma}g

g, = {(mllgl +ml, + m3ll)sin 6, +(m2Igz + m3I2)sin(6?1 +6,)+ Myl 5 sin(6, + 6, + 93)}g
g, = {(mzlgz + mslz)sin(@1 +6,)+m;l ;sin(6, + 6, + 63)}9

s = {m3Ig3 sin(6, + 6, + 6,)ig

0 0
0 0
D=[-1 0
1 -1
_O 1_
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4.4

Table.4-1

Table4-1 Parameter of the uneven bar gymnast robot model

1st link 2nd link 3rd link

Region of human body Arm Boay Leg
Mass m, (m) 0.1820 0.9090 0.7270
Length 1. (m) 0.2230 0.1600 0.2670

Distance from joint to center of gravity |; (m) | 0.1115 0.0800 0.1335

Moment of inertia |, (kgm?) 0.00088 | 0.00256 | 0.00482
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4.5

Fig.4-1
Fig.4-2
Y
O | (x,,y,)=(00) 060 X
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(x,,y,)=(0.60,-0.27)

—0.27 oo 7.

Fig.4-2 Positions of high bar and low bar
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6,0,

)sin(e1 +6,)

( o +M,ly +m3I1jSin ) +(mzlgz +Mgl, + Myl
1

M
[ jsm(& +0, +06;) (5-1)

gl+m2I1+m3I1 c0sdh — mMylgy +myl, +mgl s
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(5-2)
(%, ¥,)=(0.60,-0.27)
Fig.5-2
ml o +m (L +1 ) +m (L, +1 +1 N
(XG_Xb)2+(yG_yb)2=[ 1791 2(1 gZIVI) 3(1 2 93)J (5_2)
0<6,<27,0<6,<2x
Mathematica NMinimize
(x,,Y,)=(0.60,-0.27) Fig.5-3
0<6 <27 rad 6,=314159=7 rad 6&,=0 rad (5-3)

0.05447 m

(5-2)

6,,0,.0,
(5-3)
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02

Eq.5-2

Fig.5-2 The trajectory of the center of mass Fig.5-3 The trajectory of the center of mass

for the robot to grab the low bar
which distance from bar center to
mass center is maximum distance

for the robot to grab the low bar
which distance from bar center to
mass center is minimum distance

02r
‘—C.ZH‘,“‘02”‘04”‘0.6”‘0.8‘ 1.0‘ 12
Low bar
Eq.5-3
R
-06 \
Eq.5-2

10
=1.U

Fig.5-4 The trajectory of the center of for the robot to grab the low bar
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5.3
(5-2)

5.3.1

(5-5)

0, =[901,902,903] (rad)
0, = [6"01 O, 903] (rad/sec)
Fop = (XObi yOb) (m)

. . . T
SOl = [801x ' SOly]
S01 _ {S.ou:l _ l:XOb + 1410, COS 601:| (5-4-1)

oly Yoo + Igleol sin 6y,

. . . T
Soz = [802x1802y

S _ |:S‘02X} B {XOb + IlH'Ol COS 601 + Ig2(0.01 + 902 )COS(HOl + Hoz) (5 4 2)
02 — . - X . . . . . e
Sozy Yoo + 1100, SN Oy + |gz('901 + 6y, )Sm(gm + ‘902)
. . . T
Sos = [803x1803y]
Xop + 1,05, COS Gy +1, (901 + 6y, )005(901 +6y,)
. Sax +1 5B + Oy + Os )cOS(6yy + O,y + 6
S, :[ 03 :lz gS( o1 T U2 03) ( o1 T U2 03) (5-4-3)

Yoo + |1901 sin 6y, + |2(‘901 + 902 )Siﬂ(@m + 902)
+ Igg(éOl + 04 + O )sin(eOl + 6y +043)
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VOG _ x0G _
yo0G
WOG = tan 1(
5.2
7.3

|

Voe = NXOG!VyOG !
(mlSle + M, Sp, + MySes, )/M
(mlSOly + mZSOZy + m3303y) M

(5-5)

(5-6)
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Fig.5-5-1 A object velocity of center of gravity

Fig.5-5-2 A velocity of center of gravity on a bar
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5.3.2

(5-7)

X Xoe + Voo -t
. _{ th:|_ .
e = =
Yiie Yoo +Vyos * L _E'g'tfz

t, (sec)
Foo = [XOG 1 Yoc ]T (m)
Fyg = [the » Yiie ]T (m)

. Xite Xy + 8, SN Oy + @, SIN(Gyg1 + Oy, )+ a5 iN(O1 + Oy, +Os3)
e = =
Yie Yip — 83 COSGy; —Q, Cos(etfl + Oy, )_ as Cos(etfl + 04, + 9tf3)

;
By = [thb!ytfb]
.
0, = [etfl’eth’Hth] (rad)
. _mylgy +myly +mgly . _ Mylg, +mgl,
1 — 2 = 0
M M
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(5-8)
(5-9)

(the — Xifp ) ? + (the — Y ) ’

(5-9)
= {a, +a, €0 Oy, + 2, cOS(Oy, + O3 )} + {a2 Sin Oy, + @, Sin(Oy, + 3 )}
(5-7) (5-9) (5-10)
) 1 i
{(XOG +Vyos L, )_ thb} +141 Yoo +Vyos -, _E' -t | =Y (5-10)

= {a, +2, C0S6y, +8,C0S(By, +Oys)}” + 1@, SIN Gy, +a,5IN(6y5 +Oys )}

(5-10)

Fig.5-6 Fig.5-6
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The trajectory of center

of gravity at the aerial

~
1.~

e = ——

Fig.5-6

The trajectory of final position

The image of points at the intersection of trajectory of center of

gravity at the aerial and trajectory of center of mass final position
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5.4
5.3

Fig.5-7
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2).
3).
4).

(the 1 Yiee )
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Area’7

Area8
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Fig.5-7

(5-11)

-37 -



Area 2 Areal

Y
o L (%:.y»)=(00) X
Area 3 Area 4
Area 6 Area 5
(x,,y,)=1(0.60,-0.27)
High bar Area7 Area 8
Low bar

Fig.5-7 Division area used to judge whether the center of gravity
position calculated from duration of flight exists at
suitable position for realization of moving performance
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52 53 54
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6.3

Fig.4-1

3

-6+ 1, (0 +6,)+ 1, (6,+ 6, +6,)+ Y mi{(ss =)< (8 ¥ )] = L (6-1)

i=1

I, (Nm?)
AY (m)
S, (m/sec)
e (m)
Ve (m/sec)
Fig.4-1 Fig.6-1
s, T, %,
6,
0, 0,
0=0, 6,]' (6-1)
1,0)-0.0+ YT 0)-0,0)-L 6-2)
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Fig.6-1 A relative coordinate system
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6.4

(6-2) 6, t=t, t=t,
91 91 (tf ) - ‘91 (to) (6‘3)

0, 6,t)-6t)  (63)
0 =16, 0. C
c oe=e1 (,<t<t,) (6-4)
(6-2)
0= [92 es]T
Fig.6-2 o
(6-3)
Fig.6-3 o
(6-3) 0
L) 1) ]
L{.g(t) Igm}"” ’ )
2
Fig.6-4 e o= of
(6-3)

o.(t)+ ] Pt Ir((?)}d@ 0,(t) - [ P(t) '~3(t)}d@= "L gt (6-6)



=[o o' o)

C, o
C, ©=[0 0] e,
Fig.6-4
Fig.6-5

Fig.6-5

(6-7)

Hp(to)=el<to>+j%{l'zg) :((iﬂd@

N—"

Hp(tf)=el(tf)+10[l'zg) :((iﬂd@

N—"
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@tO = [‘902 903]T
0, = [Hth
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%,

Fig.6-2 A trajectory of different pattern of joint angle vector

05

%,

Fig.6-3 A trajectory of joint angle vector taking in a line

05

0] 0,

Fig.6-4 A trajectory of joint angle vector taking in a line
and starting at origin
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The value of liner integral e

State B

State A

Fig.6-5 The relation among the aerial model posture, posture angle &
and the curvilinear integral term
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Fig.6-6 Example of a trajectory of joint angle vector C, t=t,

Ot 0,

74 S

Fig.6-7 Example of a trajectory of joint angle vector C; t=t;
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6.5

(6-7) (6-8)

ot [0 B0 ey (RO 50
<00 JL [P 1 0oL T
t L
:J.to Ig(t)dt
0, (rad)
(6-9)
®p te 1
L :LO Ig(t) *
(6-10)
(6-10)
6.7
6.6
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6.6
65 (6-10)

65 (6-10)

65 (6-10)
Eﬁizj“ 1 dt
L K Ig(t)
Igmax
Igmin Igminglgglgmax
Igmax
Igmin
Igmax Igmin Tab|e6'1
1
®Pmin:|—'(| j.(tf_tO)
g max
1
O pmax = L'( J ﬁf _to)
Igmin
(6-10)
Fig.6-8
Igmax Igmin
(6-9)
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Table.6-1 The maximum and minimum values of the
moment of inertia of the whole body

lq 0, 0
| me =0.04010 [kgm?] 0 [rad] 0 [rad]
I gmin =0.00992 [kgm?] 7 [rad] 7 [rad]
6 -
-
Igmax _
4 -

gmin

!

ra
!

2
aneular momentum L [kem® /=]
(o)

!

0.6 04

: fi
0z e’ rotational angle ©p [rad]
duration of flight tf [=]

Fig.6-8 The controllable region rotational angle ®, during somersault
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6.7

(6-10)
¢(t) = [‘92 (t) 0y (t)]T
(6-10)
(6-10) @ =[0,(t) 6,t)]"
(6-10)
6.7.1
o(t)=[6.(t) &)
(6-9)
o) = (®—L" - IO“ X ; 0 dtJ (6-13)
¢(t) = [‘92 (t) 0y (t)]T
®(t)=[6,(t) 6,(t)]" (6-14) &
(6-15)
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BCG) ]
jei(t).e,.(t)on_{1 (= (6-14)
()= Za &(t) (6-15)

o(t)=[0,(t) &,(t)]' e

o(t)= IR (t)=a-E(t) (6-16)

E(t) = [eo (t)’ el(t)’ €, (t)"“’eN—l(t)’eN (t)]T

(6-13) Jo®)]
®p ty 1 2
J[a]z( : _L, Ig(a)dt] (6-17)
(6-17)
(BFGS ) Table.6-2

21)22)

Table.6-2
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Table.6-2 Search algorithms and combination optimization algorithms

>
VvV 3
Powell

Powell

Fletsher-Reeves FR

Polak-Ribiere-Polyak

Davidon-Fletcher-Powell DEP

Broyden-Fletcher-Goldfard-Shanmo BFGS
>

SA
(GAS)
TS
(SimE)
(StocE)
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6.7.2

o(t)=[0.(t) o)) T23)(2t4; -1<t<1
(6-18)
Tealt)= 2t T () -Ta0)
o(t)=[0.(t) o))
B(t) = 2Ty () + Ty (t) + @, T, () + -+ @y, Tus(6) + @y T ZaT

(6-19) t

di(t):aOTO(t)+a1Tl(t)+a2T2(t)+--~+aN,lTN 4 +a T ZaT

To(t):]-

Tl(t)zl

T,(t)=2t* -1

T,(t) = 4t° - 3t

T,(t)=8t* —8t* +1

Ts(t) =16t° — 20t° + 5t

To(t) = 32t° —48t* +18t -1

T,(t) = 64t —112t> +56t° — 7t

Ts(t) =128t° — 256t° +160t* —32t° +1
To(t) = 256t° —576t" +432t° —120t° + Ot

Ty (t)=512t" —1280t° +1120t° — 400t* +50t* —1

- 56 -
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6.7.3

t=t,
t=t,
(6-16)
(6-17)
D(ty) = [0 (t) Oos()] B(to) =00 (1) Gs(t)]' (6-22-1)
b(t,)=[05.(t) 6s:(0)]' bt )=[0r,(t) 6rst)]' (6-22-2)
(6-16) (6-22) o(t,) ot )
(b(to) ¢(tf) (N +1)
(N-3) (N -3)
BFGS (6-17) J[a]
(6-17)
Tyo(t)
a; O &g 0Oy
(6-19) (6-20) (6-22)

(6-23)
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¢(to ) =ayl, (to )+ a1, (to )+ a,T, (to )+ a,T; (to ) +a,l, (to )+ asTs (to )
+agl, (t0 )+ a;T,; (t0 )+ aglg (to )+ a4, (to )+ a0 (to )

Dt )= aTolt, )+ a Tyt )+ aT,(t; )+ asTalt, )+ o, T, (t, )+ asTs(t, )
+ aeTe(tf )+ a; T, (tf )+ aBTB(tf )+ agl, (tf )+ aloTlo(tf )
(6-23)
Bty ) = aoTo(to )+ Ty (to )+ @, T, (to) + @ T (to ) + @, Ty (to )+ @sTs (to)
+agTo(to )+ @ T, (o) + asTg(to )+ agTo (to ) + @ Tao (to)

D(t; )= aTolt, )+ aTi(t; )+ aTo(t; )+ asTalty )+ a,To(t, )+ asTs(t, )
+oc6T6(tf )+ a7T7 (tf )+ ozgfs(tf )+ ang (tf )+ ozme(tf )
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6.7.4

Table.6-3 Table.6-5 Table.6-7

Table.6-4
Fig.6-9(a)(b)(c) Table.6-6 Fig.6-10(a)(b)(c) Table.6-8 Fig.6-11(a)(b)(c)
(6-10) ®=[0,(t) 6,)]
6.7.3

Fig.6-9 Fig.6-10 Fig.6-11
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Table.6-3 The condition for target trajectory generation of joint angles

Initial joint angle (deg) @(t,) =[0,0]"
Final joint angle (deg) o(t,)=[0,0]
Initial angular velocity (deg/sec) d(t,) =[0,0]"
Final angular velocity (deg/ sec) o(t,)=[0,0]
Angular momentum (kgm? / sec) L=0.30
Rotational angle (deg) ®, =135
Initial time (sec) t, =0.0

Final time (sec) t; =0.3

Initial value for search algorithm

Table.6-4 The result of the orthonormal base coefficient vectors

Orthonoemal base
coefficient vectors

| 3.6524 |

[2.4769 ]

0.2136

= , O
20.0441

_12.0871}

1.2034 —0.2340
O = Oy =
1.3652 -1.2162

[0.5621 | {1.6743} [1.3114} {0.8260}
= , a4 = y a5 = y a6 =

2.2109 1.5592

—5.9609 8.7262 —2.4017
= ’a = ,a =
-10.6364 | ° [14.6431]" " | -4.2443

0.6875
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Table.6-5 The condition for target trajectory generation of joint angles

Initial joint angle (deg) @(t,) =[0,0]"
Final joint angle (deg) o(t,)=[0,0]
Initial angular velocity ~ (deg/sec) d(t,) =[0,0]"
Final angular velocity (deg/ sec) o(t,)=[0,0]
Angular momentum (kgm? / sec) L=0.30
Rotational angle (deg) ®, =135
Initial time (sec) t, =0.0
Final time (sec) t; =0.3
-1 1 1 1
. . A B e Y A E A E
Initial value for search algorithm 1 1 1
ool liefs

Table.6-6 The result of the orthonormal base coefficient vectors

[-2.2092

0.8338
0.7039

2.

2.8004

o

| —3.1544

o

0105

|

2

Orthonoemal base "

.. 3
coefficient vectors

a,

[1.3578

0.4474
0.0154

0.7455
0.5466

16375

o

o

[~11.9995
-18.3979

8.0707
yAg =
& 111.8322

o

-9.3872 |

1.1430
1.2548

—~14.1455 |

|
o

3.1554
4.6380

|
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Table.6-7 The condition for target trajectory generation of joint angles

Initial joint angle (deg) @(t,) =[0,0]"
Final joint angle (deg) o(t,)=[0,0]
Initial angular velocity (deg/sec) d(t,) =[0,0]"
Final angular velocity (deg/ sec) o(t,)=[0,0]
Angular momentum (kgm? / sec) L=0.30
Rotational angle (deg) ®, =135
Initial time (sec) t, =0.0

Final time (sec) t; =0.3

Initial value for search algorithm

Table.6-8 The result of the orthonormal base coefficient vectors

a, =
Orthonoemal base w -
.. 3
coefficient vectors
a, =

[ 1.0612

_0.9816}
10y

~[1.8194

2.5042

1.0086 0.9489
= ’al = y a2 =
| —3.7695 0.6194 3.3145

1.0277

1.0131 0.9930
= , a5 = y a6 =
—-0.2658 0.4172 1.3276

1.6000

- —-0.3290 -0.1821
= 10g = 10 = T
| —22.5616 14.2804 —17.2420 5.6030
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6.8
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7.1
7.2
MSC Software
Interactive Physics IP
IP Kutta-Merson 0.0001 IP

IP The MathWorks MATLAB DDE(Dynamic Data Exchange)

MATLAB DDE
IP MATLAB
IP DDE
MATLAB IP
MATLAB

U MATEAB |

Interactive Physics (IP)

Fig.7-1 A relation between the MATLAB and the Interactive Physics
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7.3

The MathWorks

Fig.7-2

MATLAB
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< Simulation Start >

0, = [901"902"903]T
D, = [eth’gth]T
¢tf = [étleétfs]T

< Simulation end >

Fig.7-2 The flowchart of aerial posture control simulation
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7.4

2
1 PD 2
2
7.4.1 PD
t=K,(®,-®)+ K, (&, - ) (7-1)
KP
Kd
¢d
b,
@
&
D, X T
— 30— - O——» >
A P
o | D
@b, %
v d

Fig.7-3 The PD Controller
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7.4.2

(x.y)

(7-2)

2
3
3
1 0,
0,,0,
(3-1)
M(q)j+h(g.q)+ glg)= Dz
g=f+vr
f=-M"(q)n(g.q)+g(q)]
v=M"g)D
(7-3) 6,,0,
b= f, +v,T
_|fo _| Yo
r=l Bl - L}
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(7-4) (7-5)

(7-5)

T=—v, fo Ve U (7-6)
u=b, +K (b, -®)+ K, (b, - d) (7-7)
e=(®, - o) (7-8)
(7-5)  (7-8)
e+Ket+K,e=0 (7-9)
K, K, 0<¢<1l w,>0
. 2
K, = diag(o,’) (7-10)
K, = diag(2¢w,) (7-11)
PD
. -1 <
D, Vo Jo [
X, X
¢d u \ 4 T
-1 >
9 K, Vo g
_ &
@
d o K,

Fig.7-4 The computed torque method
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7.5

7.5.1
Fig.7-2
Table.7-1
Table.7-1 (6-17)
Table.7-2
Fig.7-5
7.5.2

Fig.7-6 Fig.7-10
Fig.7-15

Fig.7-6  Fig.7-11
PD
6, 0.13(deg) 6, 0.11(deg)
6, 1.27231(deg) 6, 0.2735(deg)
PD
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(6-10)

PD 0.00003(kgm?)
0.00011(kgm?)
Fig.7-16

-74 -



Table.7-1 The Condition of motion planning for computer simulation

Initial joint angle (deg)

8, =[60,50,0]" @(t,) = [50,0]

Final joint angle (deg)

0, =[203.5940,55,-85]" &(t,)=[55,-85]"

Initial angular velocity (deg/sec)

6, =[300,0,0]" @(t,) =[0,0]"

Final angular velocity (deg/sec)

@(t;)=[0,0]"

Angular momentum  (kgm?/sec) | L =0.1980
Rotational amount (deg) ©, =106.0144
Initial time (sec) t, =0.0

Final time (sec) t, =0.3223

Table.7-2 The initial value for search algorithm

Initial value for search algorithm

e Lo el
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Table.7-3 The result of the orthonormal base coefficient vectors

|
e

—0.2340
—-1.2162

|

|

1.2034
1.3652

|

1a1:

|

0.8260
0.6875

|

}7“10

1.3114
1.5592

|

1.6743
1a5
2.2109

|

|

1a4

2.4769
3.6524

0.5621 ]
0.2136

|

—2.4017
—4.2443

{

8.7262
la =
9 114.6431

—-5.9609
—10.6364

12.0871
1“8
20.0441

a, =

a;
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Fig.7-5-1 The generated result of target trajectory of joint angles
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Fig.7-5-2 The generated result of target trajectory of angular velocities
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Fig.7-5-3 The generated result of target trajectory of moment inertia
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=—=Target Trajectory Of Joint Angle ©2
=—Target Trajectory Of Joint Angle ©3

Joint Angle Of Simulation ©2
—— Joint Angle Of Simulation ©3

0.05 01 0.15 0.2 0.25 0.3 0.85
e
Time [sec]
Fig.7-6  The time history of joint angles

Control system : PD control , Parameter : Kp=10 , Kd=10
=—=Target Trajectory Of Angular Velocity d©2

=—Target Trajectory Of Angular Velocity dO3 L

Angluar Velocity Of Simulation d©2
— Angluar Velocity Of Simulation dO3 H
5 : 0.15 0.2 0.25 03 / 0.35

Time [sec]

Fig.7-7 The time history of angular velocities
Control system : PD control , Parameter : Kp=10 , Kd=10
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Fig.7-8 The time history of momentum of inertias
Control system : PD control , Parameter : Kp=10 , Kd=10

—Angular Momentum L

0.05 0.1 0.15 0.2 0.25 0.3 0.35
Time [sec]

Fig.7-9 The time history of angular momentum
Control system : PD control , Parameter : Kp=10 , Kd=10
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Input Torque [Nm]

04

—Input Torque €2
—Input Torque €3

R
_—

0 1 1 1 1
L/GTO( 01 015 02 25 03 0.

35
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Fig.7-10 The time history of input torques
Control system : PD control , Parameter : Kp=10 , Kd=10
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==Target Trajectory Of Joint Angle ©2
==Target Trajectory Of Joint Angle ©3
80 Joint Angle Of Simulation ©2 [l
—— Joint Angle Of Simulation ©3
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Fig.7-11 The time history of joint angles
Control system : Computed torque method , Parameter : {=0.5, cw=350

200 =—Target Trajectory Of Angular Velocity d©2
150 =—=Target Trajectory Of Angular Velocity d©3 L
Angular Velosity Of Simulation d©2
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Fig.7-12 The time history of angular velocities
Control system : Computed torque method , Parameter : {=0.5, cw=350
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=—=Target Trajectory Of Moment Of Inertia Ig
0.040 —— Moment Of Inertia Of Simulation Ig =
0.035 \
o0 |
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8 0,025
2
5 0,020
5
§ 0.015
0.010
0.005
0.000
0 0.05 0.1 0.15 0.2 0.25 03 035
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Fig.7-13 The time history of momentum of inertias
Control system : Computed torque method , Parameter : {=0.5, cw=350
025
= Angular Momentum L
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015
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0.00
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Fig.7-14 The time history of angular momentum
Control system : Computed torque method , Parameter : {=0.5, cw=350
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Input Torque [Nm]

0.4

——Input Torque T2

——Input Torque T3

Zﬁi /
o1 %
)/

0 I I
()/\_/em( 01 0.15 0.2 /5 03 0.35
-0 /
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Fig.7-15 The time history of input torques
Control system : Computed torque method , Parameter : {=0.5, cw=350
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18ngan . 93;
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i 2
T=0.30 T=0.3223

Fig.7-16 The simulated behavior of aerial posture control
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Mathematica

<<Linkl >>

- (X[t] + 1gl+Sin[el[t] ] )

y[t] - Igl«Cos[el[t]]

IgLsin(@1(b) + X
( y(t) — Igl cos(d1(h) )

<<Linkl >>

V1i=D[rl, €
X (t) + lgl cos(61(t)) 61’ (b
( Yy (t) + IgLsin(61(t)) 61 (t) )

<<Link2 >>

- (X[t] + 11+ Sin[el[t]] + 1g2+Sin[el[t] +e2[t]] )

y[t] - 11« Cos[el[t]] - 1g2xCos[el[t] +e2[t]]
11sin(@Lct)) + lg2 sin(@L(t) + G2(t) +x(H)
( —11cos(61(t)) — Ig2 cos(FL(t) + 62(t)) + y(t) )

<<Link2 >>

V2=D[r2, t
X (t) + 11 cos(BL(ty) 61 (t) + g2 cos(BL(t) + 62() (B1 (t) + 62 (ty)
( Y () + 11sin(@Lty) 61’ (ty + Ig2 sin(@L(t) + 62(ty) (61 (t) + 62’ (1)) )
<<Link3 >>

X[t] + 11«Sin[el[t]] + 12«Sin[el[t] +e2[t]] + Ig3*Sin[el[t] +e2[t] + 6e3[1]]

yit] - I1xCos[el[t]] - I2xCos[el[t] +e2[t]] - Ig3xCos[el[t] +e2[t] +e3[t]] )
I1sin@L(ty) + 12sin01(t) + 62(t) + IgBsin(OL(t) + 2t + H3(t)) +X(b)

( —I1cos(@L(ty) — 12 cos(6L(ty + 62(ty) — IgB cos(BL(ty + 62(t) + 63(t) + Yty )

e

<<Link3 >>

V3= DI[r3, t]

X (t) + [1.cos(Bty) 61 (ty + 12 cos(GL(t) + 62() (B1 (t) + 62’ (ty) + IgB cos(BL(t) + B2(t) + 63(t)) (BL'(H) + 62'(t) + 63'(D)
( y (b + ILsin(@lty) 61ty + 12 sin(@1(t) +62(h) (B1 (t) + 62’ (ty) + I3 sin(BLt) + 62(t) + 63() ('t + 62'(t) + 63 (b)) )
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<< >>

K= Simplify[l/2+mlxTranspose[V1].V1+1/2+m2xTranspose[V2] .V2+
1/2xm3xTranspose[V3] -V3+1/2x 11 x0l™" [ "2+1 /2% 12% (617 [E] +627[1]) "2 +
1/2+«13%x (617 [t] + 027 [t] + 637 [1]) 2]

1
{{5 (116111 + L ((X[t] + IgL Cos[6LIt] 61'[t)? + (Y [t] + IgL Sin[eL[t]] 61'[t])%) +

12(61'1t] +62'[t)? + m2((X[t] + 11 Cos[6{t]] 61'[t] + Ig2 Cos[AL[t] + 62[1]] (6L'[t] + 62Tt))? +
(Y[t + 11 Sin[6{t]] 6 [t] +Ig2 Sin[6L[] + 621111 (G1'[t] + 62'[t)%) +
I3 (@11 +62[1] +63[t)* + m3((X[t] + 11 Cos[GL[1]] 61'[1] + 12 Cos[ELI1] + 2[t]] (LTt + 62[t]) +
I3 Cos[L[1] + 62[1] + 63{t]] (61 [1] + 62'[1] + 3 [11)) + (' [t] + 11 Sin[6L[t]] 61 [1] +
12 Sin[A[t] + 6211]] (BL'] + 62t + IgB SN[t + 62[t] + 6B3{t]] (AL [t] + 62 [t] + 63 [11))7)) }}

<< >>

U=mlxg* (y[t] - lgl«Cos[el[t]]) +
m2x«g+ (y[t] - 11+Cos[el[t]] - Ig2«Cos[el[t] +62[t]]) +
m3xg+ (Y[t] - I1xCos[el[t]] - 12xCos[el[t] +e2[t]] - Ig3xCos[el[t] +e2[t] +e3[t]])

gmi (~lglL Cos[e1t]] + yit]) + gm2 (— 11 Cos[6t]] — lg2 Cos[EL[t] +E2[t] + Vit]) +
gm3 (-1 Cos[1[t]] — 12 Cos[6A[t] + 62[t]] — Ig3 Cos[AA[t] + 62[t] + 63[t]] + YIt])

<<Lagrange>>

LL = Simplify[K- U]

1
{{5 (2gmi (IgL Cos[AL[t]] — yIt]) +2gm2 (I1 Cos[éLt]] + Ig2 Cos[ALIt] + 62t]] — Yit]) +

2gm3 (11 Cos[AL[t]] + 12 Cos[aL[t] + 62[t]] + IgB Cos[AL[t] + 621t +63[] — YIt]) +
11611112 + ML ((X[t] + IgL Cos[AL{t]] 61'[t)? + (Y [t] + IgL Sin[eLt]] 61 [t)?) +
12(61'[1] + 62 [t)? + m2((X[t] + 11 Cos[AL[t]] 6Lt] + Ig2 Cos[6L[t] + B[] (L [t] + 62 [t]))? +
(Y11 + 11 Sin[OL[t]] 61 [t + g2 SN[ + 62111 (LTt + 62'[t1)?) +
I3(0L'[t] +62'[t] + 63 [t)? + MB((X[t] + 11 Cos[OLIt]] 6L'[t] + 12 Cos[OL[t] + 621t1] (OLt] + 62'[t]) +
Ig3 Cos[OL[t] + 62[t] + 63[t]] (O[] + 62 [t] + 63 [11)% + (Y [t] + 11 Sin[eL[ty] 61 [t] +
12 Sin[A[t] + 62[1]] (611t + 62'[t) + IgBSIN[ELIt] + 62[t] +63[t]] (6L [1] +62 [t] + ¢8'[11))7)) }}

<<Lagrange >>

FullSimplify[Lx= D[D[LL, x"[t]], t] - D[LL, X[€]1]]

{{m (~IgL Sinf6{t1] 61’ [t)? + X"[t] + gL Cos[ELt]] 61" [t]) +
m2 (—I1 Sin[6L{t]] 61’ [t1* — Ig2 Sin[L[t] + 62[t]] (L[t] + 62[t])* +X"[t] + 11 Cos[L[t]] 61 [t] +
lg2 Cos[O[t] + 62[t]] (61[t] + 62"1t)) + m3(~I1 Sin[eL[t]] 61’ [t1% — 12 SIn[6L{t] + 62[t1] (6L [t] + 62'[t)? —
B Sin[AL[t) + 62(t] +63[t]] (BL'[t] + 62'[t) + 63 [t + X" [t] + |1 Cos[ALt]] 61 [t] +
12 Cos[OL[t] + 621t]] (61”1t] + 62"[t]) + g3 Cos[OLIt] + 62[t] + 6B[t1] (1" [t] + 62" [t] + 68" th)}}
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FullSimplify[Ly= D[D[LL, y"[t]], t] - D[LL, y[t]]]

{{gml+gm2 +gm3 + mi(lgl Cos[61[t]] OUIt% + v/ [t] + IgL SineL[t] 6171]) +
m2 (11 Cos[61]t]] oLt + IR Cos[A1[t] +62[t]] (61'[t] + 62/ [tn? + Y'[t] + 11 Sin[e1[t]] 617 [t] +
I2 Sin[g1[t] + 62[t]] (F1”[t] + 62"[t])) + m3 (11 Cos[A1][1]] L' [t1? + 12 Cos[L[t] +62[t)] (O1'[t] +62'[t])? +
Ig3 Cos[A1[t] + A2[t] + 63[t]] (FL'[t] + 62'[t] + 63 [tn? + Y’ [t] + 11 Sin[e1[t]] 61 [t] +
12 Sin[g1[t] + 62[t]] (F1"[t] + 62" [t]) + IoB SIn[OL[t] + 62[t] + 63[t]] (61 [t] + 62" [t] + 63" [t])}}

FullSimplify[lLel= D[D[LL, el1"[t]], t] - D[LL, e1[t]]]

{{g ((lgh ml + 1L (m2 + m3)) Sin[61[t]] + (g2 m2 + 12mB3) Sin[A1[t] + 62[t]] + IgB M3 Sin[#1[t] + 62[t] + 63[t]]) —
11 ((I2 m2 + 12m3) Sin[62[t]] + Ig3 M3 Sin621t] + 63[t1]) 62'[t]> —
218 m3 (12 SinfA3[t]] + 11 Sin[@2[t] + 63[t]]) 62'[t] 63'[t] — 12 Ig8 m3 Sin[63[t]] g3[t% -
1113 M3 Sin[62[t] + 63([t]] 98/[t]2 +261'[t]) (-11 (2 M2 + 12m3) Sin[A2[t]] + Ig3 M3 Sin[&2[t] + #3[t]]) 2'[t] —
lg8 M3 (12 Sin[&3[t]] + 11 Sin[62[t] + #3[t]]) 63'[t]) + 11 m2 Cos[1[t]] X" [t] + 11 m3 Cos[A1[t]] X" [t] +
I2 m2 Cos[a1[t] + 62[t]] X'[t] + 12m3 Cos[O1[t] + H2[t]] X '[t] + Ig3 m3 Cos[A1[t] + 62[t] + 63[t]] X'[t] +
11 m2 Sin[A1[t]] y'[t] + 12 m3Sin[OL[t]] Y’ [t] + IR m2 Sin[o1[t] + 62[t]] Y'[t] +
12m3Sin[a1[t] + 62[t]] Y'[t] + I3 M3 Sin[O1[t] + 62[t] + A3[t]] Y'[t] + (11 + 12+ 13) 41" [t] + 112 m261”[t] +
P> m261” [t] + 112 m3 61" [] +12° m3L[t] + B2 mBAL” [t] + 211 Ig2 2 Cos[621t]] 61" [t] +
21112m3 Cos[62[t]] 61" [t] + 212 1g8 m3 Cos[A3[t]] 617 [t] + 211 g3 m3 Cos[#2[t] + 63[t]] 61" [t] +
Igl m1 (Cos[@L{t]] X"[t] + Sin(EL[t]] Y’ [t] +IgLeL” [t]) + (12 + 13) 62”[t] + 2% m262”[t] + 122 m3 62" [] +
Ig;‘:;2 m362” [t] + 11 Ig2 m2 Cos[#2[t]] 2" [t] + 1112 m3 Cos[#2[t]] 62"[t] + 212 g3 m3 Cos[A3[t]] 62"[t] +
113 m3 Cos[621t] + 63(t]] 62”[t] + 1368"[t] + I8 m3 (Ig8+ 12 Cos[63]t]] + 11 Cos[62[t] + 63[t]]) 63"[t]}}

FullSimplify[Le2= D[D[LL, 2" [t]], t] - D[LL, 62[t]]]

{{g(1g2m2+ 12mB3) Sin[1t] + 62[t]] + glgB M3 Sin[A1[t] + 62[t] +63(t]] +
I1((I2 M2 + 12m3) Sin[62[t]] + Ig8 M3 Sin[621[t] + 63[t1]) OL'[t]% — 21218 M3 Sin[é3[t]] 61 [t] 63Tt —
212 I8 m3 Sin[63[t]] 62t 63 [t] — 1218 M3 Sin[63[t]] 63'[t)° + 12 m3 Cos[AL[t] + 62[t)] X'[t] +
I3 m3 Cos[@1[t] + 62[t] + 63[t]] X’ [t] + 12m3 Sin[e1[t] + 62[t]] Y'[t] +
I3 M3 SinAL[t] + 62[t] +63[t]] Y’ [t] + 122 mBAL[t] + B2 mBAL” [t] + 11 Ig2 m2 Cos[62[t]] 01[t] +
1112 m3 Cos[62[t]] 81'[t] + 212 1g8 m3 Cos[A3[t]]1 61" [t] + 111g3 m3 Cos[62[t] + &3[t]] 61"[t] +
I m2 (Cos[@1[t] + A2[t]] X [t] + Sin[AL[t] + 62[t]] Y’ [t] + IR 61" [t]) +
P2 m2602” [t] + 122 m3 62" 1] + IgB% m362"[t] + 212 I8 m3 Cos[63t]] 62”[] +
(12+13) (6171t + 27[t]) + (13+ Ig32 m3 + 121g3 m3 Cos[63[]]) 63 [1]}}

FullSimplify[Le3= D[D[LL, e37[t]], t] - D[LL, e3[t]]]

{{glgB M3 Sin[e[t] + 62[t] +6B[t]] + I3(6L"[t] + 627[t] + 63" [t]) +
I8 m3((12 Sin[¢3[t]] + |1 Sin[62[t] + &3[t]]) 61’ [t]2 + 212 Sin[63[t]] 61'[t] 62'[t] +
12 Sin[631t1] 6211 + Cos[@L[t] +62[t] + 63[t]] X"[t] + SIN[OLLL] + 62[t] +63[t1] Y’ [t] +
(12 Cos[63[t]] + |1 Cos[62[t] +63[t]]) 01 [t] + 12 Cos[63]t]] 62 [t] + IgB (01" [t] + 62”[t] + 68"[t]))}}
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<< >>
mll= FullSimplify[D[Lx, X""[t]]1]
{{ml+ m2 + m3}}
mi2 = FullSimplify[D[Lx, y* " [t]]]
{{on
m13 = FullSimplify[D[Lx, e1""[t]]1]
{{dgl mL+ 11(m2 +mB3)) Cos[61[t]] + (I2 M2+ 12m3) Cos[41[t] + 62[t]] + Ig3 m3 Cos[1[t] + 62[t] + 63]t]]}}
ml4 = FullSimplify[D[Lx, 62" [t]]]
{2 M2 + 12m3) Cos[01[t] + 62[t]] + g3 m3 Cos[O1[t] + H2[t] + 63[t]1}}
m15= FullSimplify[D[Lx, 63" "[1]]]
{lg3 m3 Cos[61[t] + 62[t] + 63[t]]}}
m21 = FullSimplify[D[Ly, X""[t]]]
{{0n
m22 = FullSimplify[D[Ly, y""[t]1]
{{ml+ m2 + m3}}
m23 = FullSimplify[D[Ly, e1""[t]1]
{{dglml+ 11 (m2 + m3)) SIN[OL[t]] + (12 M2 + 12mB3) SIn[OL[t] + 62[t]] + IgB M3 Sin[H1[t] + 62[t] + 63[t]]}}
m24 = FullSimplify[D[Ly, 62" " [t]]]
{2 m2 + 12mB3) Sin[61[t] + 62[t]] + Ig3 M3 Sin[O1[t] + 62[t] + 63[t]1}}
m25 = FullSimplify[D[Ly, 63" [t]]]
{{lgB M3 Sin[A1[t] + 62[t] + 63[t]1}}
m31 = FullSimplify[D[Lel, X" "[t]]]
{{(dgL ml + 11.(m2 +m3)) Cos[@L{t]] + (g2 m2 + 12m3) Cos[#L]t] +62[t]] + Ig3m3 Cos[61[t] + 62[t] + 3[t]]})}
m32 = FullSimplify[D[Lel, y""[t]]]
{(gl ml+ 11 (m2 + m3)) Sin[1[t]] + (I2 M2 + 12m3) Sin[A1[t] + G2[t]] + Ig8 M3 Sin[AL[t] + H2[t] + 63[t]]}}
m33 = FullSimplify[D[Lel, 61" [t]]]

{11412 413 + 112 mL + (12% +1g2%) m2 + (122 + 122 + 1g8%) m3 +
211 (I2m2+ 12mB3) Cos[é2(t]] +2Ig3m3 (12 Cos{¢3(t]] + 11 Cos[é2(t] + 63(tI])))
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m34 = FullSimplify[D[lel, 62" [t]]]

{12413 +1g22 m2 + (122 + 1g3%) m3 +
11 (2 m2 + 12m3) Cos[62[t]] + 212 g3 m3 Cos[6B]t]] + I11g3 m3 Cos[¢2[t] + 63]1]]}}

m35 = FullSimplify[D[Llel, 63" [t]]]

{13+ 1g3% m3 + 12 Ig3 M3 Cos[ B[] + 11 Ig3 m3 Cos[62[1] + 63(t]1})
mdl = FullSimplify[D[Le2, X" "[t]]]

{2 m2 + 12m3) Cos[1[t] + 62[t]] + Ig83 m3 Cos[41[t] + 62[t] + 63[t]]}}
md2 = FullSimplify[D[Le2, y""[t]]]

{12 m2 + 12m3) Sin[A1[t] +62[t]] + IgB M3 Sin[L[t] + 62[t] + 63[t]]}}
m43 = FullSimplify[D[Le2, 61" [t]]]

{12+ 13 +1g22 M2 + (122 + 1g8%) m3 +
I1(Ig2 m2 + 12m3) Cos[621t]] + 2121g3 m3 Cos[3[t]] + I11g8 m3 Cos[621t] + 63t]1}}

m44 = FullSimplify[D[Le2, 627" [t]]]

{12+ 13 +1g2% m2 + (122 + 1g3%) m3 + 212 Ig3 m3 Cos[631]1}}
m45 = FullSimplify[D[Lle2, 63" [t]]]

{13+ 1g3% m3 + 12 Ig3 M3 Cos[ 31111}

m51 = FullSimplify[D[Le3, X" "[t]]]

{{lg3m3 Cos[6L{t] + 62[t] +6B[t]1})

m52 = FulISimplify[D[Le3, y""[t]]]

({lg3m3 Sin[1[t] + 62[1] + 63[t]1})

m63 = FullSimplify[D[Le3, 61" "[t]]]

{13+ 1g8% m3 + 12 Ig3 M3 Cos[ 6B ]] + 11 Ig3 m3 Cos[62[1] + 63[t]]})
m54 = FullSimplify[D[Le3, 627" [t]]]

{13+ 1g3% m3 + 12 Ig3 M3 Cos[ 31 1]}

m55 = FullSimplify[D[Le3, 63" "[t]]]

{13+ 187 m3))
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Mom = Flatten[{{m11 , m12, m13, ml4, mi5}, (M1, m22, m23, m24, m25},
{m31, m32, m33, m34, m35}, (M1, md2, M3, md4, 453, (M5l , mb2, ms3, m54, m55} 3]

{ml+m2+m3, 0,
(lgh ml + 11 (m2 + m3)) Cos[OL[t]] + (IR M2 + 12m3) Cos[O1[1] + 62[t]] + Ig8 m3 Cos[#1[t] + 62[t] + H3([t]],
(I m2 + 12 m3) Cos[#1[t] + 62[t]] + Ig8 m3 Cos[O1[t] + H2[t] + 63[t]], Ig8 m3 Cos[H1[t] + 62[t] + 63[t]], O,
ml+ m2 +m3, (Iglml + 11(m2 + m3)) Sin[A1[t]] + (Ig2 m2 + 12 m3) Sin[O1[t] + 62[t]] + IgB M3 Sin[#L[t] + 62[t] + 63[t]],
(I m2 + 12 m3) Sin[O1[t] + 62[t]] + I8 M3 Sin[OL[t] + 62[t] + 63[t]], I8 M3 Sin[OL[t] + 62[t] + 63[t]],
(lgh ml + 11 (m2 + m3)) Cos[OL[t]] + (I M2 + 12m3) Cos[OL[t] + 62[t]] + Ig3 m3 Cos[#1[t] + 62[t] + 63([]],
(lgl ml + 11 (m2 + m3)) Sin[61[t]] + (IR M2 + 12m3) Sin[#1[t] + 62[t]] + Ig3 M3 Sin[OL[t] + H2[t] + 63[t]],
11+ 12 +13 + Ig1?ml + (Il2 + Ig22) m2 + (Il2 +122 + Igﬁz) m3+
211 (2 m2 + [2m3) Cos[62[t]] + 2 Ig3m3 (12 Cos[3(t]] + 11 Cos[62[t] + 63[t]]),
12+ 13 + 12 m2 + (122 + 1g8%) mB + 11(Ig2 m2 + 12mB3) Cos[621t]] + 212 Ig3m3 Cos[63[t]] + 111g3m3 Cos[62[t] +6Bit]],
13+ Ig8% m3 + 12 I3 m3 Cos[43[t]] + 11 Ig8 m3 Cos[#21t] + 631t]],
(I m2 + 12 m3) Cos[A1[t] + 62[1]] + Ig8 m3 Cos[H1[t] + H2[t] + 63[t]],
(2 m2 + 12m3) Sin[61[t] + 62[t]] + lg3 M3 Sin[OL[t] + 62[t] + 63(1]],
12+ 13 +1g22 M2 + (122 + 1g8%) m3+ 11 (I m2 + 12 mB) Cos[2[t]] + 212 Ig3mB Cos[6B[1]] + I11g3 m3 Cos[62[t] +EBit]],
12+ 13 + 1622 M2 + (122 + 1g3%) m3+ 21213 m3 Cos[ 6311, 13 + 13> m3 + 12 Ig3 m3 Cos[631]],
I8 m3 Cos[A1[t] + 62[t] + 63[t]], I8 M3 Sin[AL[t] + H2[t] + 63[t]],
13+ Ig3% M3 + 12 Ig3m3 Cos[ 3] + 11 Ig3 m3 Cos[62[1] + 63(t]], 13+ Ig3% m3 + 12 Ig3m3 Cos[ 6B t]], 13+ Ig8? m3)

Mom = Partition[Mom, 5]

{{mL+m2 +m3, 0,
(Igl ml+ 11(m2 + m3)) Cos[A1[t]] + (|92 m2 + 12mB3) Cos[#1[t] + 62[t]] + |§B m3 Cos[d1[t] + 62[t] + 63[1]],
(Ig2 m2 + [2mB3) Cos[61[t] + 62[t]] + Ig3 m3 Cos[d1[t] + G2[t] + &3[1]],
Ig8 m3 Cos[A1[t] + 62[t] + 63[t]1}, {0, mL + m2+ m3,
(Il ml + 1L (m2 + m3)) SIN[E1[t]] + (I M2 + 12 m3) Sin[O1[t] + 62[t]] + lg8 M3 Sin[61[t] + 62[t] + 63[t]],
(2 m2 + 12m3) Sin[61[t] + 62[t]] + lgB M3 Sin[OL[t] + 62[t] + 63[t]], I3 M3 Sin[#L[t] + 62[t] + 63[t]]},
{(lgL ML+ 11(m2 + m3)) Cos[AL[t]] + (2 M2+ 12mB3) Cos[6L[t] +E21t]] + Ig3mB Cos[AL[t] + 62(t] + 63,
(lgh ml + 1L (m2 + m3)) SIN[AL[t]] + (IR M2 + 12m3) Sin[61[t] + 62[t]] + g3 M3 Sin[OL[t] + 62[t] + 63[t]],
MLIGL + 11+ 12+ 13+ (112 + 1g2%) m2 + (112 + 122 + Ig8%) m3+ 211 (Ig2 m2 + 12mB3) Cos[62[t]] +
21g3m3 (12 Cos[6B[t]] + 11 Cos[6R[t] + 63[t]]), M21g2? + 12 + 13+ (12 + Ig8%) m3 + 11 (I2 m2 + 12m3) Cos[62[1]] +
21213 m3 Cos[6B[t]] + 11 1g3m3 Cos[621t] +63[t]], MB1g3? + 12m3 Cos[6B[t]] IgB + 1L m3 Cos[621t] + 63[t]] Ig3 + 13},
{(Ig2m2 + 12mB3) Cos[G1[t] + 62[t]] + g3 m3 Cos[A1[t] + 62[t] + 63(t]],
(IR m2 + 12m3) Sin[O1[t] + 62[t]] + lg8 M3 SIN[OL[t] + 62[t] + 63[t]], M2 IgZ2 +12+13+
(122 +1g3%) m3 + 1. (12 m2 + 12m3) Cos[62[1]] + 212 Ig3m3 Cos[631t]] + 11 Ig3mB Cos[62t] + 63[1]],
M21g2° + 12 + 13+ (122 + IgB%) M3 + 212 Ig3 M3 Cos[6B 1], M31g3% + 12m3 Cos[631t]] Ig3 + 13},
{llB m3 Cos[41[t] + 62[t] +63[t]], I3 M3 Sin[1[t] + 62[t] + 63(1]],
m3 198 + 12m3 Cos[6Bi1]] IgB + 11 m3 Cos[(21t] + 63[t]] Ig3 + I3, m31g8? + 12m3 Cos[631t]] IgB + 13, m31g3? + 13))
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<«< >>
cll= FullSimplify[D[Lx, X" [t]]]
{{on
c12 = FullSimplify[D[Lx, y"[t]]]
{10}
c13 = FullSimplify[D[Lx, e1™[t]]]

{=2 (gl ml + 11(m2 + m3)) Sin[g1[t]] + (IR M2 + [2m3) Sin[A1[t] + 62[t]] + IgB M3 Sin[H1[t] + 62[t] + 63[t]]) OL'[t] +
(IR m2 + 12mB3) Sin[A1[t] + 62[t]] + Ig3 M3 Sin[61[t] + 62[t] + &3[t]]) 62'[t] +
I3 M3 Sin[61[t] + 62[t] + 6B[t]] 63'[t])}}

cl4 = RullSimplify[D[Lx, e2"[t]]]

{=2((I2m2 + [2m3) Sin[A1[t] + G2[t]] + I8 M3 Sin[O1[t] + #2[t] + 63([t]]) (FL'[t] + 62'[t]) —
213 m3 Sin[64[t] + 62[t] + 63[t]] 63'[t]}}

c15= RullSimplify[D[Lx, 637 [t]]]

{{—2Ig8 M3 Sin[O1[t] + 62[t] + H3[t]] (OL'[t] + 62'[t] + G3tD)})
c21 = FullSimplify[D[Ly, X" [t]]]

{{on

c22 = FullSimplify[D[Ly, y"[t]]1]

{{on

c23 = FullSimplify[D[Ly, 617 [t]]]

{2(((Igl mi + 11 (m2 +mB3)) Cos[61[t]] + (g2 m2 + 12m3) Cos[61[t] +62(t]] + Ig3 m3 Cos[AL[t] + 62[t] + 63[t]]) 61'[] +
(2 m2 + 12m3) Cos[61[t] + 62[t]] + Ig3 m3 Cos[61[t] + 62[t] + 63[t]]) 62 [t] +
I8 m3 Cos[AL[t] + G2[t] + 63[t]] 63'[t])}}

c24 = FullSimplify[D[Ly, 62" [t]]]

{2((Ig2 m2 + 12m3) Cos[A1[t] + 62[t]] + Ig3 m3 Cos[O1[t] + 62[t] +H3[t]]) (61 [t] +62'[t]) +
213 m3 Cos|A11t] + 62[t] + 63[t]] 63'[t]}}

c25= FullSimplify[D[Ly, 63" [t]]]

{{21g3m3 Cos[1[t] + 62[t] +63[t]] (1 [t] + 62'[t] + 63'[t])}}
c31 = FullSimplify[D[Lel, X" [t]]]

{0}

c32 = FullSimplify[D[Lel, y"[t]]]

{0}
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c33 = FullSimplify[D[Lel, e17[t]]1]
{211 (g2 M2 + 12m3) Sin[&2[t]] + I3 M3 Sin[#2[t] + H3[t]]) 62'[t] + Ig3 M3 (12 Sin[#3[t]] + 11 Sin[62[t] + 63[t]]) 63'[t])}}
c34 = FullSimplify[D[Lel, e2"[t] 1]

(=211 (g2 m2 + 12m3) Sin[62[t]] + I8 M3 Sin[621t] + 63[t]]) (1 [t] + 62 [t]) —
213 m3 (12 Sin[@3[t]] + |1 Sin[62[t] + 63[t]]) 63 [t]}}

c35= FullSimplify[D[Lel, 637 [t]]1]

{{=21lgBm3 (12 Sin[@3[t]] + 11 Sin[A2[t] + AB[t]]) (BL'[t] + 82'[t] + 63[t])})
cAl = FullSimplify[D[Le2, x"[t]]]

{{0n

cA2 = FullSimplify[D[Le2, y"[t]]1]

{{0n

c43 = FullSimplify[D[Le2, e1™[t]]1]

{21 ((I2m2 + 12mB3) Sin[e21t]] + I M3 Sin[62[t] + EB[t]]) 61t — 121g8 m3 Sin[é3[t]1 63'[])}}
c44 = FullSimplify[D[Le2, 627 [1]]1]

{{—=212 13 M3 Sin[&B3[t]] 63'[]}}

c45 = FullSimplify[D[Le2, 637 [t]1]

{{—2121g3 M3 Sin[G3[t]] (A1 [t] + 62'[t] + O3[t])}}

c51 = FullSimplify[D[Le3, x"[t]]]

{{0n}

c52 = FullSimplify[D[Le3, y"[t]]1]

{{0n}

c53 = FullSimplify[D[Le3, e1™[t]]1]

{218 M3 ((12 Sin[A3[t]] + 11 Sin[62[t] + 63[t]]) 61’ [t] + 12 Sin[63[t]] 62’ [t])}}
c34 = FullSimplify[D[Le3, 627 [t]]1]

({21218 m3 Sin[@3[t]] (B1'[t] + 62 [t)})

c55 = FullSimplify[D[Le3, 637 [t]]1]

{0}
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CC= Flatten[{{cl1, cl12, c13, cl4, c15}, {c21, c22, c23, c24, c25},
{c31, c32, c33, c34, c353, {c4l, c42, A3, ¢4, 45y, {c51, c52, 53, c54, 553} ]

0,0, -2
(gL mL + 11 (m2 +m3)) Sin(@1[t]] + (I2 M2 + 12m3) Sin[AL[t] +62[t]] + lgB M3 Sin[AL[t] + G2[t] + E3[t]]) OL'[t] +
(g2 M2+ 12m3) Sin[61[t] + 62[t]] + Ig3 M3 Sin[A1[t] + G2[t] + 63[t]]) 62'[t] +
IB M3 Sin[O1[t] + G2[t] + 63[t]] 63'[t]),

=2((Ig2m2 + 12m3) Sin[A1[t] + 62[t]] + I8 M3 Sin[FL[t] + 62[t] + G3[t]]) (O [t] + O2'[t]) —

2B m3 Sin[A1[t] + 62[t] + 63[t]] 63'[t],
=213 M3 Sin[A1[t] + 62[t] + E3[t]] (B1[t] + 62[t] + 63'[t]), O, O,
2(((glml + 12 (m2 + m3)) Cos[O1[t]] + (IR M2 + 12m3) Cos[A1[t] + 62[t]] + g3 m3 Cos[1[t] + 62[t] + 63[t]])

A1'1t] + ((I2 M2 + 12m3) Cos[1[t] + G2[t]] + Ig3 m3 Cos[64[t] + 62[t] + E3[t]])
62'1t] + lgB m3 Cos[61[t] + H2[t] + 63[t]] 63'[t]),

2 ((I2 m2 + 12 m3) Cos[61[t] + 62[t]] + Ig3 m3 Cos[6[t] + 62[t] + HB[t1]) (B1'[t] + 62/ [t]) +

213 m3 Cos[AL[t] + 62[t] + 63[t]] 63'[t],
2 g3 m3 Cos[A1[t] + 62[t] + 63[t]] (BL'[t] + 62'[t] + 63'[t]), O, O, -2

(112 m2 + [2m3) Sin[&2[t]] + I3 M3 Sin[62[t] + 63[t]]) 62'[t] + I3 M3 (12 Sin[63[t]] + 11 Sin[62[t] + 63[t]]) 63'[t]),
=211 (g2 m2 + 12m3) Sin[62[t]] + I3 M3 Sin[62[t] + 3[t]]) (OL'[t] + 62'[t]) —

2183 m3 (12 Sin[e3(t]] + 11 Sin[e2[t] + 63[t]1) 63'[t],
=2IgBm3(12Sin[E3[t]] + 11 Sin[@2[t] + 3[t]]) (B1'[t] + 62'[t] + 63[t)), O, O,
2(11 (g2 m2 + 12mB3) Sin[A2[t]] + Ig3 M3 Sin[&2[t] + E3[t]]) AL'[t] — 12 Ig3 M3 Sin[&3[t]] #3'[t]),
21218 M3 Sin[3[t]] 63'[t], —2121g8 M3 Sin[é3[t]] (A1 [t] + 62’ [t] + 63'[t]),
0, 0, 2183 m3 (12 Sin[63[t]] + 11 Sin[62[t] + 63[t]]) O1'[t] + 12 Sin[&3[t]] 62'[t]),
21218 m3 Sin[@3[t]] (A1'[t] +62'[t]), 0}

CC = Partition[CC, 5]

{{0, 0, =2(((lgL ML + 12(M2 + m3)) Sin[A1[t]] + (IR M2 + [2m3) Sin[1[t] + H2[t]] + I3 M3 Sin[O1[t] + H2[t] + 63[t]])
OL'[t] + (2 m2 + 12m3) Sin[@1[t] + 62[t]] + Ig3 M3 Sin[A1[t] + 62[t] + 63[t]])
62'1t) + B M3 Sin[AL[t] + 62[t] + 63[t]] 63'[t]),
=2 ((I2m2 + 12m3) Sin[A1[t] + 62[t]] + IgB M3 Sin[A1[t] + 62[t] + G3[t]]) (FL'[t] + 62[t]) —
2lg3m3 Sin[A1[t] + 62[t] + 63[t]] 43'[1],
=218 m3 Sin[A1[t] + 62[t] + 63[t]] (FL'[t] + 62'[t] + 63[t])},
{0, 0, 2(((lgL M1+ 11(m2 + m3)) Cos[61[t]] + (I M2 + 12m3) Cos[O1[t] + 62[t]] + Ig3 m3 Cos[OL[t] + 62[t] + 63[t]])
OL'[t] + (g2 m2 + 12m3) Cos[#1[t] + 62[t]] + Ig3 m3 Cos[#1[t] + H2[t] + 63[t]])
62'1t] + I3 m3 Cos[01[t] + H2[t] + 63[t]] 63'[t]),
2((I2m2 + 12m3) Cos[#1[t] + #2[t]] + Ig3 m3 Cos[A1[t] + 62[t] + A3[t]]) (61'[t] + 62 [t]) +
213 m3 Cos[1[t] + G2[t] + 63[t]] 63 1],
218 m3 Cos[A1[t] + 62[t] +63[t]] (61 [t] + 62'[t] + 63'[1])},
{0, 0, —2(I1((I2 m2 + 12mB3) Sin[&2[t]] + g3 M3 Sin[A2[t] + H3[t]]) 62'[t] +
Ig8 m3 (12 Sin[A3(t]] + 11 Sin[A2[t] + A3([t]]) 63'[t]),
=211 (g2 m2 + 12m3) Sin[62[t]] + I3 M3 Sin[62[t] + 63[t]]) (A1’ [t] +62'[t]) —
2183 m3 (12 Sin63[t]] + 11 Sin[62[t] + 63[t])) 63'[t],
=218 m3 (12 Sin[A3[t]] + 11 Sin[62[t] + A3[t]]) (FL'[t] + 62'Tt] + 63'[t])},
{0, 0, 211 ((lg2 M2 + 12 m3) Sin[#2[t]] + IgB M3 Sin[H2[t] + A3[t]]) AL'[t] — 121gB M3 Sin[A3(t]] 43'[t]),
212183 M3 Sin[A3[t]1 43'[t], —212Ig8 M3 Sin[63[t]] (61" [t] + 62'[t] + 63'[t])},
{0, 0, 2183 M3 ((12 Sin[@3[t]] + 11 Sin[@2[t] + E3[t]]) O1'[t] + 12 Sin[63[t]] 62’ []),
21218 m3 Sin[A3[t]] (FL'Tt] +62'[t]), O}
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OC = FullSimplify[ (1/2) «CC)

{{o.0
—((lgLl ml + IL (M2 + m3)) Sin[61[t]] + (IR M2 + 12m3) Sin[@1[t] + 62[t]] + I8 M3 Sin[gL[t] + 62[t] + 63[t]]) 61'[t] —
(2 m2 + 12 m3) Sin[O1[t] + G2[t]] + IgB M3 Sin[GL[t] + 62[t] + 63[t]]) 62'[t] —
IgB M3 Sin[AL[t] + 62[t] + G3[t]] 63'[t],

1
5 (=2 ((l2 m2 + 12mB3) Sin[g1[t] + 62[t]] + Ig3 M3 Sin[O1[t] + 62[t] + 63[t]]) (AL [t] + 62't]) —

2B m3 Sin[A1[t] + 62[t] + G3[t]1 63'[t]), —IgB M3 Sin[AL[t] + G2[t] + E3[t]] (L' [t] + 62'[t] + 03’[t])},
{0, 0, (gL mL + 12 (M2 + m3)) Cos[O1[t]] + (IR M2 + 12m3) Cos[A1[t] + 62[t]] + Ig3 m3 Cos[O1[t] + 62[t] + 63[t]])
01'1t] + (g2 M2 + 12 m3) Cos[61[t] + 62[t]] + Ig3 m3 Cos[61[t] + 62[t] + H3[t]])
62'1t] + lgB m3 Cos[1[t] + G2[t] + 63[t]] 63'[1],
((Ig2 m2 + 12m3) Cos[A1[t] + 62[t]] + Ig3 m3 Cos[61[t] + 62[t] +6B[tI]) (B1'[t] + 62’ [t]) +
I8 m3 Cos[O1[t] + G2[t] + 63[t]] 63 [t], g8 m3 Cos[1[t] + G2[t] + 63[t]] (F1'[t] +62'[t] +E63'[t])}, {0, O,
—11((IR2 M2 + 12m3) Sin[@2[t]] + I8 M3 Sin[62[t] + 63[t1]) 62 [t] — IgB M3 (12 Sin[#B[t1] + 11 Sin[e2[t] + 63[t]1) 63'[t],
—11((R2m2 + 12m3) Sin[62[t]] + I8 M3 Sin[62[t] + 63[t]]) (A1 [t] + 62’ [t]) —
I8 M3 (12 Sin[@3[t]] + 11 Sin[62[t] + 63[t]1) 43 [1],
—IgB M3 (12 Sin[#3[t]] + 11 Sin[A2[t] + 63[t]]) (OL'[t] + 62'[t] + 63[1])},
{0, 0, 11 ((Il2 m2 + 12m3) Sin[#2[t]] + lgB M3 Sin[62[t] + H3(t]]) 61'[t] — 12 Ig8 m3 Sin[A3[t]] 63'[t],
—12 1B m3 Sin[A3[t]) 63'[t], —121g3 M3 Sin[E3[t]] (1 [t] + 62'[t] + 63 [t])},
{0, 0, I8 M3 ((12 Sin[@3[t]] + 11 Sin[62[t] + #3[t1) 61'[t] + 12 Sin[E3[t]] 62'[t]), 121g8 M3 Sin[@3[t1] (A1'[t] + E2'[t)), 0}}
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<«< >>
g1l = FullSimplify[D[Lx, g] *Q]
{0y
g21 = FullSimplify[D[Ly, g] *Q]
{g(ml+m2 +m3)}}
g31 = FullSimplify[D[Lel, g1 Q]
{tg (gl ml + 11(m2 + m3)) Sin[A1[t]] + (Ig2 M2 + 12mB) Sin[g1[t] + G2[t]] + lg3 M3 Sin[L[t] + 62[t] + 63[t1])}}
g41 = FullSimplify[D[Le2, g] *Qg]
{{g (12 M2 + 12m3) SiN[A1[t] +62[t]] + IgB M3 SIn[AL[t] + 62[t] + G3[t1])}}
g51 = FullSimplify[D[Le3, g] =Q]
{{glg3 M3 Sin[OL[t] + 62[t] + EB3(t]1}}
G= Flatten[{gll, g21, g31, g4l, g51}]

{0, g(MLl+ m2 + m3),
g((lgL m1 + 11 (M2 + m3)) Sin[AA[t]] + (g2 M2 + [2m3) Sin[A1[t] + 62[t]] + IB M3 Sin[61[t] + A2[t] + 63[t]]),
g((I2 m2 + 12m3) Sin[A1[t] +62[t]] + IB M3 SiN[A1[t] + 62[t] + 63[t]]), glgB M3 Sin[e1[t] + 62[t] + 63[t]]}

G = Partition[G, 1]

(O

| g(ml + M2+ m3)

L g((glml + 12.(m2 + m3)) sin@Lh) + (I m2 + 12m3) sin(@Lct) + 62(h) + I3 m3sin(@L(H) + 62(t) +63(h))
| (IR m2 + 12mB3) sin(oLct) + 62(t) + I8 M3SIn(OLcY + 020 + 63(1))

(g lBM3sin@L(t) + 62(t) + 63(t)

[ —
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<< >>

W= D[Mom, €] -2+ CC

{{0, 0, —(lgLl ml + 11 (m2 + m3)) Sin[H1[t]] 61'[t] —
(IR m2 + 12mB3) Sin[A1[t] + 62[t]] (O1'[t] + 62'[t]) — IgB M3 Sin[OL[t] + H2[t] + A3[t]] (FL'[t] + 62'[t] + 63[t]) —
2(—((lgLml + 11 (m2 + m3)) Sin[A1[t]] + (IR M2 + 12m3) Sin[61[t] + 62[t]] + IgB M3 Sin[AL[t] + 62[t] + 63[t]])
ALt — (IR m2 + 12m3) Sin[e1[t] + 62[t]] + IgB M3 Sin[1[t] + 62[t] + 63[t]]) 62'[t] —
IgB M3 Sin[@1[t] + G2[t] + 63[t]] 63'[t]), —(Ig2 M2 + [2m3) Sin[@1[t] + 62[t]] (61 [t] + 62'[t]) +
2((I2 M2 + 12m3) Sin[O1[t] + 62[t]] + I8 M3 Sin[AL[t] + 62[t] + 63([t]]) (O [t] +62'[t]) +
218 m3 Sin[O1[t] + 62[t] + 63[t]] 63'[t] — IB M3 Sin[@L[t] + 62[t] + G3[t]] (FL'[t] + 62'[t] + 63[t]),
I8 M3 Sin[AL[t] + 62[t] + 63[t]] (FL'[t] + 62'[t] + 63 [1])},
{0, 0, (gL ML+ 11 (m2 + m3)) Cos[O1[t]] 61 [t] + (IR M2 + 12 m3) Cos[#1[t] + 62[t]] (OL'[t] + 62'[t]) +
I8 m3 Cos[A1[t] + G2[t] + 63[t]] (B1'[t] + 62'[t] + 63'[t]) —
2(((Igl ml + 11 (m2 + m3)) Cos[61[t]] + (IR m2 + 12m3) Cos[A1[t] + 62[t]] + Ig8 m3 Cos[A1[t] + H2[t] + E3[t]])
OL't] + (IR m2 + 12m3) Cos[o1[t] + 62[t]] + g3 m3 Cos[O1[t] + 62[t] + 63[t]])
62'11] + I8 m3 Cos[O1[t] + 62[t] + 63[t]] 63'[t]),
(2 m2 + 12m3) Cos[61[t] + 62[t]] (61 [t] + 62'[t]) + IgB m3 Cos[H1[t] + H2[t] + 63[t]] (FL'[t] + 62'[t] + 63[t]) —
2(((I2m2 + 12 m3) Cos[H1[t] + 62[t]] + Ig3 m3 Cos[A1[t] + 62[t] + &3[t]]) (FL'[t] +62'[t]) +
Ig8 m3 Cos[A1[t] + 62[t] + 63[t]] 83'[t]), —IgB M3 Cos[H1[t] + H2[t] + 63[t]] (AL’ [t] + 62 [t] + 63'[t])},
{—=(lgl ml + IL(m2 + m3)) Sin[A1[t]] 61[t] — (I M2 + 12 m3) Sin[A1[t] + 62[t]] (FL'[t] +62'[t]) —
I8 M3 Sin[@1[t] + G2[t] +63[t]] (61 [t] + 62'[t] + 63'[t]),
(Igl ml + 11 (m2 + m3)) Cos[A1[t]] 61'[t] + (I2 M2 + 12 m3) Cos[A1[t] + 62[t]] (FL'[t] + 62'[t]) +
Ig8 m3 Cos[A1[t] + 62[t] + 63[t]] (AL’ [t] + 62'[t] + 63'[t]),
=211 (g2 m2 + 12m3) Sin[@2[t]] 2'Tt] — 2(— 11 (I2 M2 + 12 m3) Sin[#2[t]] + Ig8 M3 Sin[62[t] + 63[t]1) 62'[t] —
I8 M3 (12 Sin[&3[t]] + 11 Sin[62[t] + 63[t]]) 63'[t]) +
218 m3 (—12 Sin[#3[t]] 63'[t] — 11 Sin[62[t] + 63[t]] (62'[t] +63'[t])),
=11 (g2 m2 + 12m3) Sin[e2[t]1 02'[t] — 212 Ig8 M3 Sin[63[t]] 63'[t] — 11 1g3 M3 Sin[A2[t] + A3[t]] (B2'[t] + 63'[t]) —
2(-11 (12 M2 + 12m3) Sin[62[t]] + I3 M3 Sin[62[t] + 63([t]]) (AL [t] + 62 [t]) —
lg8 m3 (12 Sin[&3[t]] + 11 Sin[62[t] + 63[t]]) 63'[1]),
—121g8 M3 Sin[&3(t]] 63'[t] — 11 IgB M3 Sin[62[t] + #3[t]] (62'[t] +63'[t]) +
2183 m3 (12 Sin[A3[t]] + 11 Sin[A2[t] + 63[t]]) (AL’ [t] + 62'[t] + 63 [1])},

(=2 M2 + 12m3) Sin[A1[t] + A2[t]] (B1'[t] + 62'[t]) — IgB M3 Sin[G1[t] + G2[t] + 63[t]] (B1'[t] +62'[t] + 63 [t]),
(I2 m2 + 12mB3) Cos[61[t] + 62[t]] (61 [t] + 62'[t]) + I3 m3 Cos[H1[t] + 62[t] + 63[t]] (FL'[t] + H2'[t] + 63'[t]),
—11 (g2 m2 + 12mB3) Sin[g2[t]] 62'[t] — 212 I8 M3 Sin[#3[t]] 63'[t] — 1113 M3 Sin[&2[t] + E3[t]] (H2'[t] + 63[t]) —

211 ((I2 m2 + 12mB3) Sin[e2[t]] + g3 M3 Sin[62[t] + 63[t]1) 61'[t] — 121g3 m3 Sin[A3[t]] 63[t]),
0, —121g8 M3 Sin[#3[t]] 63'[t] + 212 Ig3 M3 Sin[A3[t]] (61’ [t] + 62[t] + H3[t])},
{~lgB M3 Sin[O1[t] + #2[t] + 63[t]] (BL'[t] + 62t] + 63'[t)),
Ig8 m3 Cos[A1[t] + H2[t] + 63[t]] (AL’ [t] + 62'[t] + 63'[t]),
=218 m3((12Sin[63[t]] + 11 Sin[#2[t] + 63[t]]) 61'[t] + 12 Sin[63[t]] 62[t]) —
12 Ig8 m3 Sin[&3[t]] 63Tt] — 11 Ig8 M3 Sin[62[t] + 63[t]] (F2'[t] + 63Tt)),
=212 1B m3 Sin[A3[t]] (61'[t] + 62'[t]) — 12 IgB M3 Sin[63[t]] 63'[t], O}}
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Transpose[W]

{0, 0, —=(lgl m1 + 11 (M2 + m3)) Sin[61[t]] 61'[t] —

(I m2 + 12m3) Sin[@4[t] + 62[t]] (91’ [t] + 62'[t]) — IgB M3 Sin[O1[t] + 62[t] + 63[t]] (B1'[t] + 62'[t] + 63[t]),
—(Ig2 M2 + 12m3) Sin[@4[t] + 62[t]] (FL'[t] + 62'[t]) — lgB M3 Sin[O1[t] + 62[t] + 63[t]] (FL'[t] +62'[t] + 63 [t]),
—lgB M3 Sin[A1[t] + 62[t] + 63[t]] (FL'[t] + 62'[t] + 63[t])},

{0, 0, (gl m1 + 11 (m2 + m3)) Cos[A1[t]] 61 [t] + (Ig2 m2 + 12 m3) Cos[#1[t] + 62[t]] (BL'[t] + 62Tt]) +
Ig8 m3 Cos[A1[t] + 62[t] +63[t]] (AL [t] + 62'[t] + 63/ [t]),
(I2 M2 + 12m3) Cos[A1[t] + 62[t]] (61'[t] + 62'[t]) + IlgB m3 Cos[A1[t] + 62[t] + 63[t]] (FL'[t] + 62'[t] + 63'[t)),
Ig8 m3 Cos[61[t] + 62[t] +63[t]] (AL [t] + 62'[t] + A3/ [1])},
{—(lglml + 12(m2 + m3)) Sin[A1[t]] OL'[t] — (IR m2 + [2m3) Sin[O1[t] + 62[t]] (FL'[t] + 62 [t]) —
I8 M3 Sin[O1[t] + 62[t] + 63[t]] (L' [t] + 62'[t] + 63 [t]) —
2(—((lgl ml + 11(m2 + m3)) Sin[A1[t]] + (Ig2 M2 + 12 m3) Sin[#1[t] + 62[t]] + IgB M3 Sin[1[t] + 62[t] + 63[t]])
OL'[t] — (g2 M2 + 12m3) Sin[e1[t] + 62[t]] + Ig8 m3 Sin[1[t] + 62[t] + 63([t]]) 62'[t] —
IgB M3 Sin[O1[t] + 62[t] + 63[t]] 63'[t]), (Igl ml + 11 (m2 + m3)) Cos[H1[t]] AL'[t] +
(I2 m2 + 12m3) Cos[A1[t] + G2[t]] (61 [t] + 62'[t]) + IgB m3 Cos[AL[t] + 62[t] + H3[t]] (FL'[t] + 62'[t] + 63t]) —
2(((lgL ml + 11.(m2 +mB3)) Cos[A1[t]] + (Ig2 m2 + 12m3) Cos[6[t] + 62[t]] + Ig8 m3 Cos[O1[t] + 62[t] + 63[t]])
OL'[t] + (g2 m2 + 12 m3) Cos[A1[t] + 62[t]] + Ig3 m3 Cos[#1[t] + 62[t] + 63[t]]) 62'[t] +
Ig8 m3 Cos[A1[t] + 62[t] +63[t]] 43'[t]), —211 (Ig2 M2 + 12mB) Sin[62[t]] 62'[t] —
2(=l1 (I m2 + 12m3) Sin[A2[t]] + IgB M3 Sin[A2[t] + &3[t]]) 62'[t] — lg8 M3 (12 Sin[A3[t]] + 11 Sin[A2[t] + 63[t]])
63'[t]) + 21g3 M3 (12 Sin[63[t]] 63 [t] — 11 Sin[62[t] + G3[t]] (62'[1] + 63 [1])),
—11(g2m2 + 12m3) Sin[e2[t]] 62'[t] — 212 1B M3 Sin[&3[t]] 63 [t] — 11 I8 M3 Sin[A2[t] + H3[t]] (62[t] + 63'[t]) —

2(11 (12 m2 + 12mB3) Sin[62[t]] + Ig3 M3 Sin[#2[t] + 63[t]]) 61'[t] — 12 I3 m3 Sin[#3(t]] 43'[t)),

—2lgBm3 (12 Sin[A3[t]] + 11 Sin[#2[t] + G3[t]]) OL'[t] + 12 Sin[63[t]] 62'[t]) —

1218 m3 Sin[A3[t]] 63Tt] — 11 IgB M3 Sin[H2[t] + #3[t]] (B2'Tt] + 63'[t])},

{(—=(Ig2 M2 + 12mB3) Sin[61[t] + A2[t]] (BL'Tt] + 62'[t]) +

2((Il2m2 + 12mB3) Sin[1[t] + 62[t]] + IgB M3 Sin[A1[t] + H2[t] +63[t]]) (L' [t] +62'[t]) +

2B M3 Sin[@[t] + 62[t] + 63[t]] 63'[t] — I3 M3 Sin[6A[t] + 62[t] + E3[t]] (BL[t] + 62'[t] + 63[t)),

(I2 M2 + 12m3) Cos[A1[t] + 62[t]] (61'[t] + 62'[t]) + IgB m3 Cos[A1[t] + 62[t] + 63[t]] (FL'[t] + 62'[t] + 63[t]) —

2(((I2m2 + 12m3) Cos[A1[t] + 2[t]] + lgB m3 Cos[HL[t] + 62[t] + E3[t]]) (61'[t] +62'[t]) +

Ig8 m3 Cos[A1[t] + 62[t] +63[t]] 43'[t]),
—11 (g2 m2 + [2m3) Sin[e2[t]] 62'[t] — 21218 M3 Sin[&3[t]] 63'[t] — 11 I8 M3 Sin[A2[t] + H3[t]] (62'[t] + 63'[t]) —
2(-11((I2m2 + 12m3) Sin[62[t]] + I8 M3 Sin[62[t] + 63([t]]) (61 [t] +62'[t]) —
I3 M3 (12 Sin[63[t]] + 11 Sin[62[t] + 63([t]]) 63 [t]),
0, 21218 M3 Sin[&3[t]] (61 [t] + 62'[t]) — 12 Ig8 m3 Sin[&3[t]] 63'[t]},
{lB M3 Sin[A1[t] + 62[t] + H3[t]] (6L [t] + 62 [t] + 63'[t]),
—lgB m3 Cos[A1[t] + 62[t] + 63[t]] (AL'[t] + 62'[t] + 63'[t)),
—121gB8 M3 Sin[@3[t]] 63'[t] — 11 Ig8 M3 Sin[H2[t] + 63[t]] (62'[t] +H3'[t]) +
2183 m3 (12 Sin[E3[t1] + 11 Sin[e2[t] + 63[t]]) (61 [t] + 62'[t] + 63'[t]),
—121gB M3 Sin[@3[t]] 63't] + 212 Ig3 m3 Sin[A3[t]] (A1’ [t] + 62'[t] + 63'[t]), O}}

FullSimplafy[W+ W)

{OO
0

o O O o
O O O o o
O O O o o

|0
|0
L0
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3

-6+ 1, (0+6,)+ 1, (6, + 6, +6,)+ S mi{(s; —re )< (8 W )] = L (B-1)

i=1

l; (Nm?)
:[SiX!Siy i (m)
S = [SiX!Siy ! (m/SeC)
rG:[XGvyG]T (m)
Ve = [VXG’VyG ! (m/sec)
(B'l) 911 ‘9'2 ) 93 (B'Z)
Iy (t) él(t)+ r2 '9.2('[)+ |~3 'és(t): L (B-2)

ly=(1,+1, +I3)+m1{(8lx — %6 ) +(Sy, —YG)Z}

2 2 2 2 (B-3)
+m, {(Szx - Xg) +(52y _yG) }+ m3{(83X ~Xg) (Ssy yG) }
I~ +m1{— Slx—xG A+(S1y yG)C}
+m2[ — % Mgz sin(6; +6,)— A}=(S,, — Yo Ml,» cos(6, +6,)-Cl]
(B-4)
+m3[S3X—xG N, sin(6, + 6, +|gssm(¢9 +6,+6,)- A}
o (N cos(91+02)+|93cos(01+02+¢93) cl
|~3 =l;+ ml{_(slx —Xe )B+(Sly —Ye )D}
+Mm, [_(Szx —Xg )B +(SZy —Ye )D] (B-5)

+Ma[(Sayx — X6 Mg sin(6, + 6, +6,)- B}
—(Say — Yo Nly5 c0s(6; + 6, +6,)— D}
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m,{lg, sin(@, +6,)j+my{l, sin(6, + 6, )+ 1, sin(6, + 6, + 6,)}

A= (B-6)
m, +m, +m,
g _ Matlgasin(6, +0; + 0, ); B7)
m, + m, + m,
CJmMﬁ%@+@»+mmaM@+@th%@+%+&» (©-8)
B m, +m, + m,
D:mﬁwwq@+@+%» (B-9)

m, +m, +m;,
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s, = [<|° C-1
1_{51y}_{_|9j “

[Soc | [1g2s5in6,(t) }
S, = = (C'Z)
[Say | [~ li—142€086,(t)
5. - S | _[12in (1) + 145 5in(6 () + 64 (1) ©3)
S5y | [l —1, 086, (t) 145 cos(d, (t) + 65(t))
(C-4)
C[xe ][ MiSiy +mySy, +mySs, /M ca
e _[ye}_ M, Sy, +M,S,, +MmsS;, /M )
M=m,+m, +m,
o(t)=[0.(t) 6:0)]
(0:0.6,0)= 21, +Zm.{ S, F +(ye — Sy F (C-5)
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gl

A
4
—N

Fig.C-1 The position of links

- 109 -



1 2
— , ,|=cosme, m=12, D-1
N \/; @ (D-1)
[0, 7]
joﬁcosm(od(sz , E.f:cosm(pcosngodgo=5mn mn=212,-.- (D-2)
T
(D-3) [-1.4]
x=cosg , do= ox (D-3)
1-x°
cosme =T, (x) (D-4)
Ta(x) <1, |x<1 (D-5)
To(x)=1, T,(x)=x, T,(x)=cos2¢ = 2cos® p —1=2x* -1 (D-6)
T,(x) = cos3¢ = 4cos® p — 4cosp = 4x* —3x , ---
T.(x) x
Fig.D-1 T.(x),m=1,2,3,---,9,10
T.(x) x m m
m T, (x) +1 m>1
-1 T,(x)=1, T,(x)=x, T,(x)=2x -1
Tm(X) [_1’1] m
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ﬂ(h—lj
X, = COS 2 m>1 (D-7)

T (x)

0 m'=m

[ flejf_zfx)dx - {’; m=m#0 (D-8)
T m=m=0
0 e

ST T ()= |5 1= %0 ©-9

7 kK i=j=0
x] (@7 k
(D-10)

Fig.D-1 The tchebycheff polynomial
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E Interactive Physics

Interactive Physics IP
IP

IP DDE (Dynamic

Data Exchange)
MATLAB M
Microsoft Excel
WMBasic
IP DDE
IP IP

Video for Windows(AVI)
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Microsoft Excel
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F MATLAB

9%%%0%Y%%%%%%%0%Y%% %% % 0% %% %% Ia%Y% %% %% % e%e% %% %% %e%%e% %% %% %% %% % %% %

T.Seki

thl_tO=input("
th2_tO=input(”
th3_tO0=input("

thl_tf
th2_tf=input("
th3_tf=input("

%

dthl_tO=input(”
dth2_t0=input(”
dth3_tO=input(”

dthl_tf=input(”
dth2_tf=input(”
dth3_tf=input(”

Y%deg — rad

%
thl_tO=thl_t0*pi/180
th2_t0=th2_t0*pi/180
th3_t0=th3_t0*pi/180

th2_tf=th2_tf*pi/180
th3_tf=th3_tf*pi/180

%
dthl_to=dthl_t0*pi/180
dth2_t0=dth2_t0*pi/180
dth3_t0=dth3_t0*pi/180

dthl_tf=dthl tf*pi/180
dth2_tf=dth2_tf*pi/180
dth3_tf=dth3_tf*pi/180

thi_t0
th2_t0
th3_t0

th2_tf
th3_tf

dthl_t0
dth2_to
dth3_t0

dthl_tf
dth2_tf
dth3_tf

Input

[deg]");
[deg]™);
[deg]™);

[deg]™);
[deg]");

[deg/sec]®);
[deg/sec]™);
[deg/sec]™);

[deg/sec]®);
[deg/sec]®);
[deg/sec]™);
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9%%%0%Y%%%%%%%0%Y%% %% % 0% %% %% Ia%Y% %% %% % e%e% %% %% %e%%e% %% %% %% %% % %% %

% %
% %
% %
% T.Seki %
9%%90%9%%%%%%%%0%Y%%%%%%0%%6%% %% Yo% %% %% % %% I %e%e%%%% 9% %0%%% %% %% %%Y%%
Yh================0
% %
Yh================Y

%3links model parameters
%Mass[kg]
m1=0.182;
m2=0.909;
m3=0.727;

%Total Mass[kg]
M=m1+m2+m3;

%Length[m]
11=0.223;
12=0.160;
13=0.267;

Distance from joint from center of gravity[m]

1g1=0.1115;

192=0.0800;

193=0.1335;

%moment of inertia[kgm"2]

11=0.00088;

12=0.00256;

13=0.00482;
0 "0
%high bar drh=[dx0,dy0]%
0 %
dx0=0;
dy0=0;
0 %
% dso[m/sec] %
0 "0
%Linkl dso1[m/sec]

dS01x=dx0+lgl*dthl_t0*cos(thl_t0)
dS01y=dy0+lgl*dthl_t0*sin(thl_t0)

%Link2 ds02[m/sec]
dS02x=dx0+11*dthl_t0*cos(thl_t0)+lg2*(dthl_t0+dth2_t0)*cos(thl_t0+th2_t0)
dS02y=dy0+11*dthl_t0*sin(thl_t0)+lg2*(dthl_t0+dth2_t0)*sin(thl_t0+th2_t0)

%Link3 dso3[m/sec]
dS03x=dx0+11*dthl_t0*cos(thl_t0)+12*(dthl_t0+dth2_t0)*cos(thl_t0+th2_t0)+lg3*(dthl_t0+dth2_t0+dth3_t0)*cos
(thl_t0+th2_t0+th3_t0)
dS03y=dy0+11*dthl_tO*sin(thl_t0)+12*(dthl_t0+dth2_t0)*sin(thl_t0+th2_t0)+l1g3*(dthl_t0+dth2_t0+dth3_t0)*sin
(thl_t0+th2_t0+th3_t0)
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% VOG %

% VOG[m/sec]
Vx0G=(m1*dS01x+m2*dS02x+m3*dS03x) /M
Vy06=(m1*dS01y+m2*dS02y+n3*dS03y) /M

0 %
% thvoG %

0 "0

% thVOG[rad]

thV0G=atan(Vy0G/Vx0G)

Y%rad - deg

degthV0G=thV0G*180/pi

66969696966 %%69%696946%6 %4966 %6%696666 %6696 %6666 Y6 %% %%
% %
% %
% %
% %
% T.Seki %

9%%90%Y%%%%%%%0%0%Y%%% %% %% %% Yo% %% % Y% %% %% % e%a%6% %% %% %% % eYa%Y%%

%
syms tf

% g[m/sec”2] %

0=9.807;

0 0%

%high bar rh=[xh,yh] %

%low bar ri=[xl1,yl] %
9 %
x1=0.60;

yl1=-0.27;

% S[ml t

%Linkl S01[m]
S01x=xh+lgl*sin(thl_t0);
S01y=yh-Igl*cos(thl_t0);

%Link2 S02[m]
S02x=xh+11*sin(thl_t0)+1g2*sin(thl_t0+th2_t0);
S02y=yh-11*cos(thl_t0)-1g2*cos(thl_t0+th2_t0);

%Link3 S03[m]
S03x=xh+11*sin(thl_t0)+12*sin(thl_t0+th2_t0)+lg3*sin(thl_t0+th2_t0+th3_t0);
S03y=yh-11*cos(thl_t0)-12*cos(thl_t0+th2_t0)-1g3*cos(thl_t0+th2_t0+th3_t0);
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% roG %

% r0G=[x0G,y0G] [m]
X0G=(m1*S01x+m2*S02x+m3*S03x) /M
y0G=(m1*S01y+m2*S02y+m3*S03y)/M

0 "0

% rtfG %

0 "0

% rtfG=[xtfG,ytfG] [m]
al=(m1*1gl+m2*11+m3*11)/M;
a2=(m2*1g2+m3*12)/M;

a3=(m3*1g3)/M;

UxtfG=xl+al*sin(thl_tf)+a2*sin(thl_tf+th2_tf)+a3*sin(thl_tf+th2_tf+th3_tf)
%ytfG=yl-al*cos(thl_tf)-a2*cos(thl_tf+th2_tf)-a3*cos(thl_tf+th2_tf+th3_tf)

0 0

% low bar %
% %

0 0

W(xtfG-x1)"2+(ytfG-yl)"2=(al+a2*cos(th2_tf)+a3*cos(th2_tf+th3_tf))"2+(a2*sin(th2_tf)+a3*sin(th2_tf+th3_tf)
"2

0 0%

% %

X tFG=X0G+VX0G*tF
Yy tFG=y0G+Vy0G*tF-(1/2)*g*tF 2

% tf %
% %
% tf 4 %
% Symbolic Math Toolbox %

r=sqgrt((al+a2*cos(th2_tf)+a3*cos(th2_tf+th3_tf))"2+(a2*sin(th2_tf)+a3*sin(th2_tf+th3_tF))"2)%low bar
tf=solve ((((x0G+Vx0G*tf)-x1)"2+((yoG+Vy0G*tf-(1/2)*g*tf 2)-y1)"2-(al+a2*cos(th2_tf)+a3*cos(th2_tf+th3_tf))

N2-(a2*sin(th2_tf)+a3*sin(th2_tf+th3_tf))"2));
tf=double(tf)

Yn%%%%% %% t%ta%tatatnatatntatatnatntatatndntatatn ettt

% %
% %
% %
% %
% T.Seki %
969%%%6%%9%%%6%%6%%%6%%6%% %% Yo% % %% Yo% %% Yo% Y% % %6% %% %6% Yo% %% %% %o% % %6% %% % %% Yo% % %%
%stroke4 tf "

tf=input(" tf s
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% rtfG %

0 04

% rtfG=[xtfG,ytfG] [m]
XtfG=x0G+Vx0G*tf
ytfG=y0G+Vy0G*tf-(1/2)*g*tf 2

if (xtfo<=xl) & (yefGo=yl)

disp(“possible®)
else

disp("impossible®)
end
O6%690969696%6%%%6%696966%6 6% %9096 %6968 %%6%6%69696 %6699 Y6 %% %% %% %60
% %
% %
% thi_tf %
% %
% T.Seki %
96%9%%%%0%%%%6%%9%6%%%6%%% Yo% % Yo% %% %% %% 6%% %% % %% %% %6% %% Yo% %% %6%% %% %% %% %%
0 %
% rtfG %
9 b
% rtfG=[xtfG,ytfG] [m]

UxtFG=x0G+Vx0G*tf
%y tfG=y0G+Vy0G*tf-(1/2)*g*tf 2

% rtfG %

()

% rtfG=[xtfG,ytfG] [m]
%hal=(ml*1gl+m2*11+m3*11)/M;
%a2=(m2*1g2+m3*12)/M;

%a3=(m3*193)/M;

UxtfG=xl+al*sin(thl_tf)+a2*sin(thl_tf+th2_tf)+a3*sin(thl_tf+th2_tf+th3_tf)
%ytfG=yl-al*cos(thl_tf)-a2*cos(thl_tf+th2_tf)-a3*cos(thl_tf+th2_tf+th3_tf)

%
UxtfG=x1+(al+a2*cos(th2_tf)+a3*cos(th2_tf+th3_tf))*sin(thl_tf)+(a2*sin(th2_tf)+a3*sin(th2_tf+th3_tf))*cos(
thl_tf)

%ytfG=yl-(al+a2*cos(th2_tf)+a3*cos(th2_tf+th3_tf))*cos(thl tf)+(a2*sin(th2_tf)+a3*sin(th2_tf+th3 _tf))*sin(
thl_tf)

bl=(al+ta2*cos(th2_tf)+a3*cos(th2_tf+th3_tf));
b2=(a2*sin(th2_tf)+a3*sin(th2_tf+th3_tf));

0

()
% thl_tf %
0 no
if (th2_tf==0) & (th3_tf==0)
thl_tf=atan((ytfG-yl)/(xtfG-x1))+(3/2)*pi
else
thl_tf=-asin((b1* (xtfG-x1)+b2*(ytfG-yl))/(b172+b2/2))+pi

end

Y%rad - deg
thl_tf=thl_tf*180/pi
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Y%deg — rad
thl_tf=thl_tf*pi/180;

Yn%%%%% %% %%ta%tatatntatatntatatntatatatatntntatatnatnnttatn

% %
% %
% %
% %
% T.Seki %

0 0

% L %

0 "0

% L [kgmr2/sec]

yL=sigma(i,1,3)(1i*dthi_to+mi*((S0i-r0G)*(dS0i-V0G)))

L=11*dthl_t0+12*(dthl_t0+dth2_t0)+13*(dthl_t0+dth2_tO+dth3 t0)+...
m1*((S01x-X0G)*(dS01y-Vy0G)- (S01y-y0G)*(dS01X-VX0G))+. . -
m2* ((S02x-X0G)*(dS02y-Vy0G) - (S02y-y0G)*(dS02x-VX0G) ) +. . -
m3*((S03x-X0G)*(dS03y-Vy0G)- (S03y-y0G)*(dS03x-VX0G))

9%%%0%Y%%%%%%%0%Y%% %% %% %% %% Ia%Y%%6% %% %% %% %% % e%%e% %% %% %% %% % IeYa%Y%%

% %
% %
% %
% %
% T.Seki %

Yp=============y
% %
Yp=============()
% thp [rad]

if (th2_t0==0) & (th3_t0==0) & (th2_tf==0) & (th3_tf==0)
thp=thl_tf-thl_t0

Y%rad - deg
thp=thp*180/pi

%deg - rad

thp=thp*pi/180;
else

disp(“Use the curviliner integral calculation®)
end
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9%%90%Y%%%%%%%0%Y%% %% %% %% %% I % %% %% %% %% %e%%e% %% %% %% %% % YeYa%Y%%

% T.Seki %

O OAVAOAVAOAAAOAUAVAOAVA A AA VROV AVAUADAVA A AAAVA DAV A AUAVADAVAV A AAVAVA VA AAVADAOAOAOAOAY
(A i i i A L A A

0040/
(ldii}

% L tf, lg
% thp .
% thp Igmax Igmin

%thp

%thp
thp=input("thp[rad] DH

% J(t) - 1g
JAMin=24.936;
% J(t) -1g
JAmax=100.841;

tair=0.05:0.01:1;%
thp_possible=0:0.01:2*pi ;%
[tair thp_possible]=meshgrid(tair,thp_possible);%2

Lmin=thp_possible./(JAmin.*tair);
Lmax=thp_possible./(JAmax.*tair);

figure(1),
subplot(211) ,mesh(tair,thp_possible,Lmin),hidden off
subplot(212) ,mesh(tair,thp_possible,Lmax),hidden off

figure(2),
mesh(tair,thp_possible,Lmin),hidden off
hold on,
mesh(tair,thp_possible,Lmax),hidden off
xlabel ("duration of flight tf [s]");
ylabel (“rotational angle Op [rad]");
zlabel ("angular momentum L [kgm*2/s]");

hstrokel 7

cal_thp_possible_min=L*JAmin*tf

cal_thp_possible_man=L*JAmax*tf

if(cal_thp_possible_min <= thp) & (cal_thp_possible_man >= thp)
disp(“possible®)

else

disp(“impossible®)

end
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% %
% ( ) %
% X (BFGS ) %
% ( %
% %
% T.SEKI %
% %

function [x,fval,exitflag,output,grad,hessian] =
runsharedvalues2008_2(L, thp,t0, tf,th2_t0,th3_t0,th2_tf,th3_tf,dth2_t0,dth3_t0,dth2_tf,dth3_tf)

%
objval=[];

bo( )
x0=[1.3111111-0.5111111];

%
options=optimset("LargeScale”, "off", "Display”, "iter", "MaxFunEvals*®,10000, “TolFun*®,1e-50);

% (BFGS)
[x,fval,exitflag,output,grad,hessian]=fminunc(@objfun,x0,options);

Y= mmmm %
% %
Ypmmmm e e e %

function f=objfun(x)
% objval objfun runsharedvalues

%3links model parameters
%Mass

m1=0.182;

m2=0.909;

m3=0.727;

%Length

11=0.223;
12=0.160;
13=0.267;

%Distance from joint from center of gravity
1g1=0.1115;
1g2=0.0800;
193=0.1335;

%aamoment of inertia
11=0.00088;

12=0.00256;
13=0.00482;

Jil=quadl (@dai_iti_ko,t0,tf);

function g=dai_iti_ko(t)

e e e %
% ( ) %
P %
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%TN
N=10;

%

T0=1;

Ti=t;

T2=2.*t."2-1;

T3=4.*t."3-3.*t;

T4=8.*t."N-8.*1."2+1;

T5=16.*t."5-20.*t."3+5_*t;
T6=32.*t."6-48.*t.N+18.*t."2-1;
T7=64.*t.A7-112 . *t_"5+56.*t."3-7.*t;
T8=128.*t."8-256.*t.M6+160.*t_."-32.*1."2+1;
T9=256.*t."9-576.*t.A7+432.*t_"5-120.*t."3+9._*t;
T10=512.*t.~10-1280.*t.~8+1120.*t."6-400.*t.N4+50.*t."2-1;

TO_t0=1;

T1_t0=t0;

T2_t0=2.*t0.72-1;

T3_t0=4.*t0.73-3.*t0;

T4_t0=8.*t0.74-8.*10.72+1;
T5_t0=16.*t0.75-20.*t0./3+5.*1t0;
T6_t0=32.*t0.76-48.*t0.M4+18.*t0."2-1;
T7_t0=64.*t0.77-112.*t0.75+56.*t0."3-7.*t0;
T8_t0=128_*10.78-256.*t0.76+160.*t0.M4-32_*t0./2+1;
T9_t0=256.*10.79-576.*t0."7+432.*t0.75-120_*10.73+9.*10;
T10_t0=512.*t0.”710-1280.*t0.78+1120.*t0.76-400.*t0./4+50.*t0."2-1;

TO_tf=1;
T1_tf=tf;

T2_tf=2_*tf.~2-1;

T3_tf=4_*tf."3-3.*tf;

T4_tf=8_*tf.NM-8.*tf."2+1;

T5_tf=16.*tf."5-20.*tf_"3+5.*tf;
T6_tf=32_*tf_"6-48_*tf_."4+18_*tf_."2-1;
T7_tf=64.*tf.~7-112 . *tf.~5+56.*tF."3-7.*tf;
T8_tf=128.*tf."8-256.*tf."6+160.*tF.N-32.*tf_"2+1;
T9_tf=256.*tf."9-576.*tF.~7+432_.*tf."5-120.*tf . "3+9.*tf;
T10_tf=512_*tf."10-1280.*tf."8+1120.*tFf."6-400.*tFf."4+50.*tf."2-1;

dT0_t0=0;

dT1_t0=1;

dT2_t0=4.*10;

dT3_t0=12.*t0.72-3;

dT4_t0=32_*t0.73-16.*t0;

dT5_t0=80.*t0.”4-60.*t0."2+5;
dT6_t0=192.*t0.75-192.*t0.73+36.*t0;
dT7_t0=448.*t0.76-560.*t0."4+168.*t0."2-7;
dT8_t0=1024.*t0."7-1536.*t0.75+640.*t0."3-64.*t0;
dT9_t0=2304.*t0.78-4032.*t0.76+2160.*t0."4-360.*t0./2+9;
dT10_t0=5120.*t0."9-10240.*t0.77+6720.*t0.75-1600.*t0.”3+100.*t0;

dT0_tf=0;
dT1_tf=1;

dT2_tf=4.*tf;

dT3_tf=12.*tf."2-3;

dT4_tf=32.*tF.A3-16.*tf;

dT5_tF=80.*tF.A4-60. *tF.A2+5;
dT6_tF=192.*tF. 5-192 . *tF.A3+36. *tf;

dT7_tF=448.*tF.A6-560. *LF.4+168. *tF.A2-T;
dT8_tf=1024.*tf. 7-1536.*tF. "5+640. *tF."3-64. *Lf;

dT9_ tF=2304.*tF. 8-4032.*tF."6+2160.*tF . 4-360. *tF.A2+9;
dT10_tF=5120.*tF. 9-10240.*tf.A7+6720.*tF."5-1600.*tF."3+100. *tf;
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%

%MATLAB Symbolic Math Toolbox
%

%

alphaN_3th2=

alphaN_2th2=

alphaN_1th2=

alphaNth2=

alphaN_3th3=

alphaN_2th3=

alphaN_1th3=

alphaNth3=

%

th2=x(1) . *TO+X(2) . *T1+x(3) . *T2+X(4) . *T3+X(5) . *T4+x(6) . *T5+x(7) . *T6+alphaN_3th2.*T7. ..
+alphaN_2th2.*T8+alphaN_1th2.*T9+alphaNth2_*T10;

th3=x(8) . *T0+x(9) . *T1+x(10) . *T2+x(11) . *T3+x(12) . *T4+x(13) . *T5+x(14) . *T6+alphaN_3th3.*T7. ..
+alphaN_2th3.*T8+alphaN_1th3.*T9+alphaNth3.*T10;

Xg1=0;

ygl=-lg1;

xg2=1g2.*sin(th2);

yg2=-11-1g2.*cos(th2);

xg3=12_*sin(th2)+1g3.*sin(th2+th3);% th2
yg3=-11-12.*cos(th2)-1g3.*cos(th2+th3) ;% th2

%
M=m1+m2+m3;

%
1=11+12+13;

% Jalfha

Jalpha=1./(1+m1.*(((m2.*xg2+m3.*xg3) . /M) . A2+ (((M1-M) . *ygl+m2_*yg2+m3.*yg3)./M)."2). ..
+m2.*((((Mm2-M) - *xg2+m3.*xg3) . /M) . A2+ ((ml.*ygl+(m2-M) . *yg2+m3.*yg3) ./M)."2). ..
+m3.*(((Mm2.*xg2+(m3-M) . *xg3) . /M) . ~2+((ml.*ygl+m2.*yg2+(m3-M) . *yg3) ./M) ."2));

%function g

g=Jalpha;

end
L %
% %
e %
objval=((thp/L)-J1)"2;
f=objval;

end

end
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% %
% Interactive Physics %
% DDE(Dynamic Data Exchange) %
% PD %
% PD %
% T.Seki %
b IIIIIIIoIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIoIIIIiIiiiiIiiv
function

[tau2,tau3,Deth2,Deth3,Dedth2,Dedth3,Delg, Ig,L]=aerial_posture_controller_PD_No7(t,thl,th2,th3,dthl,dth2,d
th3,S1x,S1y,S2x,S2y,S3x,S3y,dS1x,dS1y,dS2x,dS2y ,dS3x,dS3y)

% 3links model parameters %
Y%Mass

m1=0.182;

m2=0.909;

m3=0.727;

%Al mass of model

M=m1+m2+m3;

%Length

11=0.223;
12=0.160;
13=0.267;

%Distance from joint from center of gravity
1g1=0.1115;
1g2=0.0800;
1g3=0.1335;

%moment of inertia
11=0.00088;
12=0.00256;
13=0.00482;

% Deth2,Deth3,Dedth2,Dedth3 %

% (T10)
% *program: runsharedvalues2008_2

T0=1;

Ti=t;

T2=2*t"2-1;

T3=4*t"3-3*t;

T4=8*t"N4-8*t"2+1;

T5=16*t"5-20*t"3+5*t;
T6=32*t"6-48*t"4+18*t"2-1;
T7=64*tN7-112*t"5+56*t"3-7*t;
T8=128*t"\8-256*t"\6+160*t"4-32*t"\2+1;
T9=256*t"9-576*t"7+432*t"5-120*t"3+9*t ;
T10=512*t"10-1280*t"8+1120*t"6-400*t"4+50*t"2-1;
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dT0=0;

dT1=1;

dT2=4*t;

dT3=12*t"2-3;

dT4=32*t"3-16*t;

dT75=80*t"4-60*t"2+5;
dT6=192*t"5-192*t"3+36*t;
dT7=448*t"6-560*t"4+168*t"2-7;
d78=1024*t"7-1536*t"5+640*t"3-64*t;
dT79=2304*t"8-4032*t"6+2160*t"4-360*t"2+9;
dT10=5120*t"9-10240*t"7+6720*t"5-1600*t"3+100*t ;

% x  x(0) x(14)
% (BFGS )
x=[1.0340 0.9589 1.2190 1.0878 0.8868 0.9385 1.0242 -0.0211 1.0807 0.6102 0.8281 1.1920 1.1196 0.9669];

%

% (BFGS )
alphaN_3th2=-1.5563;
alphaN_2th2=1.8667;
alphaN_1th2=-1_4758;
alphaNth2=0.6715;

alphaN_3th3=3.1679;
alphaN_2th3=-0.3050;
alphaN_1th3=1.9978;
alphaNth3=-0.7112;

% : Deth2,Deth3

Deth2=x(1)*TO+x(2)*T1+x(3)*T2+x(4) *T3+x(5) *T4+x (6) *T5+x(7) *T6+alphaN_3th2*T7+alphaN_2th2*T8+alphaN_1
th2*T9+alphaNth2*T10;

Deth3=x(8)*TO+x(9)*T1+x(10)*T2+x(11)*T3+x (12) *T4+x(13)*T5+x(14)*T6+al phaN_3th3*T7+alphaN_2th3*T8+alp
haN_1th3*T9+alphaNth3*T10;

% : Dedth2,Dedth3

Dedth2=x(1)*dT0+x(2)*dT1+x(3)*dT2+x(4)*dT3+x(5) *dT4+x(6)*dT5+x(7)*dT6+alphaN_3th2*dT7+alphaN_2th2*dT
8+alphaN_1th2*dT9+alphaNth2*dT10;

Dedth3=x(8)*dT0+x(9)*dT1+x(10)*dT2+x(11)*dT3+x(12)*dT4+x(13)*dT5+x(14)*dT6+alphaN_3th3*dT7+alphaN_2t
h3*dT8+alphaN_1th3*dT9+alphaNth3*dT10;

% Delg

DeS1x=0;

DeSly=-1g1;

DeS2x=1g2*sin(Deth2);
DeS2y=-11-1g2*cos(Deth2);
DeS3x=12*sin(Deth2)+1g3*sin(Deth2+Deth3);
DeS3y=-11-12*cos(Deth2)-1g3*cos(Deth2+Deth3);

% DerG=(DexG,DeyG)
DexG=(m1*DeS1x+m2*DeS2x+m3*DeS3x) . /M;
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DeyG=(m1*DeS1ly+m2*DeS2y+m3*DeS3y) . /M;
% Delg

Delg=(11+12+13)+m1*((DeS1x-DexG)"2+(DeSly-DeyG)"2)+m2* ((DeS2x-DexG) 2+(DeS2y-DeyG)”2) +m3* ((DeS3x-DexG)2+(
DeS3y-DeyG)"2);

% Ig
% (1P ré=(xG,yG)
XG=(M1*S1x+m2*S2x+m3*S3x)/M;

yG=(m1*S1y+m2*S2y+m3*S3y)/M;

% 1P) Ig
1g=(11+12+13)+m1* ((S1X-XG) A2+ (S1y-yG)2)+m2* ((S2X-XG) "2+ (S2y-yG)A2)+m3*((S3X-XC) 2+ (S3y-yG)"2) ;

% L %

% (U] ré=(xG,yec)
%125

% (1P) VG=(VxG, VyG)

VXG=(m1*dS1x+m2*dS2x+m3*dS3x)/M;
VyG=(m1*dS1y+m2*dS2y+m3*dS3y)/M;

% 1P L

L=11*dth1+12*(dthl+dth2)+13*(dthl+dth2+dth3)+. ..
m1*((S1x-xG)*(dS1ly-VyG)-(S1ly-yG)*(dS1x-VxG))+. ..
m2* ((S2x-xG)*(dS2y-VyG)-(S2y-yG)*(dS2x-VxG))+. . .
m3*((S3x-xG)*(dS3y-VyG)-(S3y-yG)*(dS3x-VxG));

% :PD
% > Kp,Kd
% : Klp,K1ld

K2p=10; K2d=10;

% : K2p,K2d
K3p=10; K3d=10;

% : tau2
tau2=K2p*(Deth2-th2)+K2d*(Dedth2-dth2);

% : tau3
tau3=K3p*(Deth3-th3)+K3d*(Dedth3-dth3);
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% %
% Interactive Physics %
% DDE(Dynamic Data Exchange) %
% %
% 2 %
% T.Seki %
b IIIIIIIoIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIILN
function

[tau2,tau3,Deth2,Deth3,Dedth2,Dedth3,Delg, Ig,L]=aerial_posture_controller_computed_torque_method_No3(t,thl
,th2,th3,dthl,dth2,dth3,S1x,S1ly, S2x, S2y, S3x, S3y,dS1x,dSly,dS2x,dS2y,dS3x,dS3y)

% 3links model parameters %
Y%Mass

m1=0.182;

m2=0.909;

m3=0.727;

%Al mass of model

M=m1+m2+m3;

%Length

11=0.223;
12=0.160;
13=0.267;

%Distance from joint from center of gravity
191=0.1115;
192=0.0800;
193=0.1335;

%moment of inertia
11=0.00088;
12=0.00256;
13=0.00482;

%G-forces

6=9.807;

% Deth2,Deth3,Dedth2,Dedth3 %
%

% (T10)

% *program: runsharedvalues2008_2

%

T0=1;

Ti=t;

T2=2*t"2-1;

T3=4*t"3-3*t;

T4=8*t"4-8*t"2+1;

T5=16*t"5-20*t"3+5*t;

T6=32*t"6-48*t"4+18*t"2-1;
T7=64*t"7-112*t"5+56*t"3-7*t;
T8=128*t"8-256*1"6+160*t"4-32*t"2+1;
T9=256*t"9-576*t"7+432*t"5-120*t"3+9*t;
T10=512*t"10-1280*t"8+1120*t"6-400*t"4+50*t"2-1;
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%

dT0=0;

dT1=1;

dT2=4*t;

dT3=12*t"2-3;

dT4=32*t"3-16*t;

dT5=80*t"4-60*t"2+5;
dT6=192*t"5-192*t"3+36*t;
dT7=448*t"6-560*t"4+168*t"2-7;
dT78=1024*t"7-1536*t"5+640*t"3-64*t;
dT79=2304*t"8-4032*t"6+2160*t"4-360*t"2+9;
dT10=5120*t"9-10240*t"7+6720*t"5-1600*t"3+100*t;

% 2

ddT0=0;

ddT1=0;

ddT2=4;

ddT3=24*t;

ddT4=96*t"2-16;

ddT5=320*t"3-120*t;
ddT6=960*t"4-576*t"2+36;
ddT7=2688*t"5-2240*t"3+336*t ;
ddT8=7168*t"6-7680*t"4+1920*t-64;
ddT9=18432*t"7-24192*t"5+8640*t"3-720*t;
ddT10=46080*t"8-71680*t"6+33600*t"4-4800*t"2+100;

% x  x(0) x(14)
% (BFGS )

x=[1.0340 0.9589 1.2190 1.0878 0.8868 0.9385 1.0242

%

% (BFGS )
alphaN_3th2=-1_5563;
alphaN_2th2=1.8667;
alphaN_1th2=-1.4758;
alphaNth2=0.6715;

alphaN_3th3=3.1679;
alphaN_2th3=-0.3050;
alphaN_1th3=1.9978;
alphaNth3=-0.7112;

% : Deth2,Deth3

-0.0211 1.0807 0.6102 0.8281

1.1920 1.1196 0.9669];

Deth2=x(1)*TO+X(2)*T1+x(3)*T2+x(4) *T3+x(5) *T4+x(6) *T5+x(7) *T6+alphaN_3th2*T7+alphaN_2th2*T8+alphaN_1

th2*T9+alphaNth2*T10;

Deth3=x(8)*T0+x(9)*T1+x(10)*T2+x(11)*T3+x(12)*T4+x(13)*T5+x(14)*T6+alphaN_3th3*T7+alphaN_2th3*T8+alp

haN_1th3*T9+alphaNth3*T10;

% : Dedth2,Dedth3

Dedth2=x(1)*dT0+x(2) *dT1+x(3)*dT2+x(4) *dT3+x(5) *dT4+x (6)*dT5+x(7)*dT6+alphaN_3th2*dT7+alphaN_2th2*dT

8+alphaN_1th2*dT9+alphaNth2*dT10;

Dedth3=x(8)*dT0+x(9)*dTL1+x(10)*dT2+x(11)*dT3+x(12)*dT4+x(13)*dT5+x(14)*dT6+alphaN_3th3*dT7+alphaN_2t

h3*dT8+alphaN_1th3*dT9+alphaNth3*dT10;

% : Deddth2,Deddth3

-128 -



Deddth2=x(1)*ddT0+x(2)*ddT1+x(3)*ddT2+x(4)*ddT3+x(5)*ddT4+x(6)*ddT5+x(7)*ddT6+alphaN_3th2*ddT7+alpha
N_2th2*ddT8+alphaN_1th2*ddT9+alphaNth2*ddT10;

Deddth3=x(8)*ddT0+x(9)*ddT1+x(10)*ddT2+x(11)*ddT3+x(12)*ddT4+x(13)*ddT5+x(14)*ddT6+alphaN_3th3*ddT7+
alphaN_2th3*ddT8+alphaN_1th3*ddT9+alphaNth3*ddT10;

% Delg

DeS1x=0;

DeSly=-191;

DeS2x=1g2*sin(Deth2);
DeS2y=-11-1g2*cos(Deth2);
DeS3x=12*sin(Deth2)+1g3*sin(Deth2+Deth3);
DeS3y=-11-12*cos(Deth2)-1g3*cos(Deth2+Deth3);

% DerG=(DexG,DeyG)
DexG=(m1*DeS1x+m2*DeS2x+m3*DeS3x)/M;
DeyG=(m1*DeS1ly+m2*DeS2y+m3*DeS3y)/M;

% Delg

Delg=(11+12+13)+m1*((DeS1x-DexG)"2+(DeSly-DeyG)”"2)+m2*((DeS2x-DexG)"2+(DeS2y-DeyG)"2)+m3* ((DeS3x-DexG)
"2+(DeS3y-DeyG)"2);

% Ig
% (1P) r6=(xG,yG)
XG=(M1*S1x+m2*S2x+m3*S3x)/M;

yG=(m1*S1y+m2*S2y+m3*S3y)/M;

% IP) Ig
1g=(11+12+13)+m1* ((S1X-XG) 2+ (S1y-yG)A2)+m2* ((S2X-XG) "2+ (S2y-yG)A2)+m3* ((S3X-XC) 2+ (S3y-yG)"2) ;

% L %

% (1P ré=(xG,y6)
%143

% (1P) VG=(VxG, VyG)

VXG=(m1*dS1x+m2*dS2x+m3*dS3x)/M;
VyG=(m1*dS1y+m2*dS2y+m3*dS3y)/M;

% 1P L

L=11*dth1+12*(dth1+dth2)+13*(dthl+dth2+dth3)+. ..
m1*((S1x-xG)*(dS1ly-VyG)-(S1ly-yG)*(dS1x-VxG))+. ..
m2* ((S2x-xG)*(dS2y-VyG)-(S2y-yG)*(dS2x-VxG))+. . .
m3* ((S3x-xG)*(dS3y-VyG)-(S3y-yG)*(dS3x-VxG));

% M
mll=ml+m2+m3;
m12=0;
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m13=(m1*1gl+m2*11+m3*11)*cos(thl)+(m2*1g2+m3*12)*cos(thl+th2)+m3*1g3*cos(thl+th2+th3);
ml4=(m2*1g2+m3*12)*cos(thl+th2)+m3*1g3*cos(thl+th2+th3);
m15=m3*1g3*cos(thl+th2+th3);

m22=m1+m2+m3;
m23=(m1*1g1+m2*11+m3*11)*sin(thl)+(m2*1g2+m3*12)*sin(thl+th2)+m3*1g3*sin(thl+th2+th3);
m24=(m2*1g2+m3*12)*sin(th1+th2)+m3*Ig3*sin(thl+th2+th3);

m25=m3*1g3*sin(thl+th2+th3);

m33=m1*1g1/2+(m2+m3)* (1172)+m2*(19g2~2)+m3* (12/2) +m3* (1g372) +(2*m2*11*1g2+2*m3*1 1*12) *cos (th2) +2*m3* 1 1*
1g3*cos(th2+th3)+2*m3*12*1g3*cos(th3)+11+12+13;

m34=m2*(1g2"°2)+m3*(1272) +m3*(1g3°2)+(m2*11*1g2+m3*11*12) *cos (th2)+m3*11*1g3*cos(th2+th3)+2*m3*12*1g3*c
0os(th3)+12+13;

m35=m3*(1g3"2)+m3*11*1g3*cos(th2+th3)+m3*12*Ig3*cos(th3)+13;

m44=m2*(1g2"2)+m3*(1272) +m3*(1g372)+2*m3*12*Ig3*cos(th3) +12+13;
m45=m3*(1g93"2)+m3*12*1g3*cos(th3)+13;

m55=m3*(1g372)+13;

M=[m1l m12 m13 m14 ml5
ml2 m22 m23 m24 m25
ml3 m23 m33 m34 m35
ml4 m24 m34 m44 m45
m15 m25 m35 m45 m55];

% h
h1=-((m1*1gl+m2*12+m3*13)*sin(thl)+(m2*1g2+m3*12)*sin(thl+th2)+m3*1g3*sin(thl+th2+th3))*(dth1"2). ..
-((m2*1g2+m3*12)*sin(thl+th2)+m3*1g3*sin(thl+th2+th3))*(dth2/2). ..
-(m3*1g3*sin(thl+th2+th3))*(dth3"2)...
-((2*m2*1g2+2*m3*12)*sin(th1+th2)+2*m3*1g3*sin(thl+th2+th3))*(dthl1*dth2). ..
-(2*m3*1g3*sin(thl+th2+th3))*(dth1*dth3). ..
-(2*m3*1g3*sin(thl+th2+th3))*(dth2*dth3);

h2=((m1*1g1+m2*12+m3*13)*cos(thl)+(m2*1g2+m3*12)*cos(th1l+th2)+m3*1g3*cos(thl+th2+th3))*(dth1/2). ..
+((m2*1g2+m3*12)*cos (th1l+th2)+m3*1g3*cos(thl+th2+th3))*(dth2/2). ..
+(m3*1g3*cos(thl+th2+th3))*(dth3"2)...
+((2*m2*1g2+2*m3*12)*cos(thl+th2)+2*m3*1g3*cos(thl+th2+th3))*(dthl*dth2)...
+(2*m3*1g3*cos(thl+th2+th3))*(dth1*dth3). ..
+(2*m3*1g3*sin(thl+th2+th3))*(dth2*dth3);

h3=-((m2*11*1g2+m3*11*12)*sin(th2)+m3*11*1g3*sin(th2+th3))*(dth2"2). ..
-(m3*12*1g3*sin(th3)+m3*11*1g3*sin(th2+th3))*(dth3"2). ..
-((2*m2*11*1g2+2*m3*11*12) *sin(th2)+2*m3*11*1g3*sin(th2+th3))*(dth1*dth2). ..
-(2*m3*12*1g3*sin(th3)+2*m3*11*1g3*sin(th2+th3))*(dth1*dth3). ..
-(2*m3*12*1g3*sin(th3)+2*m3*11*1g3*sin(th2+th3))*(dth2*dth3);

ha=((m2*11*1g2+m3*11*12) *sin(th2)+m3* 1 1*Ig3*sin(th2+th3))*(dth12) . . .
-(M3*12*1g3*sin(th3))*(dth3~2). ..
-(2*m3*12*1g3*sin(th3))*(dth1*dth3). . .
-(2*m3*12*1g3*sin(th3))*(dth2*dth3) ;

h5=(m3*12*1g3*sin(th3)+m3*11*1g3*sin(th2+th3))*(dth1"2)...
+(m3*12*1g3*sin(th3))*(dth2"2). ..
+(2*m3*12*1g3*sin(th3))*(dth1*dth2);

h=[h1
h2
h3
h4
h5];
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g2=(m1+m2+m3)*G;
g3=((m1*1gl+m2*11+m3*11)*sin(thl)+(m2*1g2+m3*12)*sin(thl+th2)+m3*1g3*sin(th1l+th2+th3))*G;
g4=((m2*1g2+m3*12)*sin(thl+th2)+m3*Ig3*sin(thl+th2+th3))*G;
g5=(m3*1g3*sin(thl+th2+th3))*G;

g=[g1
g2
g3
94
g51;

D=[0 0
00
-10
1-1
0 11;

% ddd=f+vT
f=-1*inv(M)*(h+g);
v=inv(M)*D;

%  d=(th2,th3) fphi,vphi
fphi=[f(4,1)
f(5,D1;

vphi=[v(4,1) v(4,2)
v(5,1) v(5,2)];

% ( )( 2 )
% > Kp,Kd

% <

dzeta=0.5;

% wn

omegan=350;

% : Klp,K1ld
K2p=omegan”2; K2d=2*dzeta*omegan;

% : K2p,K2d
K3p=omegan”2; K3d=2*dzeta*omegan;

% Kp
Kp=[K2p 0

0 K3pl;
% Kd
Kd=[K2d 0

0 K3d];
% Dephi
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Dephi=[Deth2

Deth3];
% phi
phi=[th2
th3];
% Dedphi
Dedphi=[Dedth2
Dedth3];
% dphi
dphi=[dth2
dth3];
% Deddphi
Deddphi=[Deddth2
Deddth3];
% u

u=Deddphi+Kp*(Dephi-phi)+Kd*(Dedphi-dphi);

% T
tau=-1*inv(vphi)*fphi+inv(vphi)*u;

% o tau2
tau2=tau(1,1);

% : tau3
tau3=tau(2,1);
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